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m&ldsay (Probability)

wnaT GlsueSHEHLD MasLDd Fabamib

3Bl ib:-

B SeTHIL auripeailey BenLGlumid Hev Ko & Hemenenis umbiw
usvBeumi (g eyseme sTHIILSMH SIS BT NG TG EN6T S anemd Glauiw
Geuevmrigwisireng. Qelieurmy HID Gl UGS 1pw uAGE T g enem semer
@\ suenswnal NIfgaeumib.

(1) Srvrefleas s.yw uflCsrgene:-

uflGsmgene eerlesr GumGUMISeT (outcomes) updl 2 mid

wrsd FpuuL (i wwruilesr uuflCsrgenes “drwmefls.ss

Fnlpw UAGETSEMET” 6TEBTLIL(HID.

Eg: (i) 20km/h etgmid Enmesr sHullsv GlFsuaib aungeetid 2 wes1S )
wrevmisaflsy 40km b ClFsveyib.

(i) flpaLlev 2_Lla@b Gfwer Cumelsy wenmub.

(2) srpurpHmil ufiGFm g eneer:-

(Random Experiment)

uflBGsmgenen Qearmiear (ppeaymst updl o MIFWNss S.miul

yywrggmier SuufiGsrgenss ‘et(gurpmi uflCengene

eTesTLL(HID.
Eg: (1) prewmwb garenns semrhidCurg) sene ali(gor Song) W
eflgor sTerr & MIANWITSE Fom(PlpWITS).

(i) @eirm wevl GUUISTE HTenaT WenLp Quu_uumrr eTewr 2 mis

W& Fam(PlglUTS).
(ii)) Apps weflgar 5 amBLSEn@GsT @miurert sTer o md
WSS SaM(PlglLITF).

wr#elsus’ (Sample Space)

stgorpmiu ufiGsngener gerhlerGurg) &msEWIDTs & enlpw
oo QumGumsenetyd Oanmswr, Ggmen  “wm LflGeuef)”
sterlu(pid. @idwrHiGleusflullss 2_sirer eiGlaum QumGU DS EBD
‘wrdfll yereflasr ereriu@id. wrHGlasfl S eteirm eT(S Hewrmsy
&l&&0u(Hid.



Eg: (i) 1 @efi(pha 6 aueny Qeusasbliu’ L Gaming sgnwpdls
STWESL ML QUHUeD 2 (HL LUuBb eTgwmm miu
ufiGengeneTeniis: & (555
@uufGar generaamer wrHlflGleusfl S oy 675 Newreu(mLom my
&M&&Uu(HiD.

Sl 345006
@mg 1,2,3,4,5, 6 stetrues wrHAll ysteflast o @ib.

Eg: (ii) GamLmg presrwib 66t m) @ H(penm &-suarUu(bid 6T(LQwmmmil
ufiGergenemenis: &(5gI%.
@uufCargenes g amer rHiMGleusfl S oy 6ur ) Gewtau(mom m)
GM&a0u(Hin.
ST AR CTL-HH |
H, T sresrues (penmGui prewriig Sleir s6m6v, L, 6TEITLIDENDS:
®hl&Lng,.
@rig HT, TH, TT, HH erestuse wrdifll yereflg.er oy,@ .
SDly:-
(1) vrHNQeuelWflsyisTer T Hfllyer el s eafles 676w 6vell & s
- pyeystergmuiler owrdflQael wyapm wrHflCeaef
stewLIL(HID.
- (i) wrHNQaualuflyerer wrEfllyeTeflseafleT 67 6vor swll 8 om 5
- efeSlwrrufissr b HifiGlae] (pip aubdm wrEiMGlauef sTeuriibIbo.

M®sLFSF (Event)
wrHAGaef qardlar saGeaurm QgrenLl Afleyb gsiGlaumb
Blapsd ererrlu(hlio.
@ibhspsfast A,B,C,......... 6T6UT 6T(PS G SelewTmen @M &0u(bIb.

Eg: (1) 1 @6\(phg 6 eueny @evaasbli L CarLng sgTpsls
SMUSSLenL. @65 m) (Hpenm 2 (BLLUubie ufiGsrgenes
WS S(5SS.
- @uufGsngenesamen wrdlfQeuafl S=1{ 1,2,3,4,5,6 }
Sh(&D.
{2,4} ereiiugy S @en it Qe flifley S4@ L. Qgense A
Qerrmev (&G SMen



A={24}
255Ceu A eT6tTug) @ Hlspey.
@GsGumey B = { 1, 3,5 } stetrugyid ST Hl&Dhea] Sp&b.

Blap&él garhlanen Qasrafliu_gdd @nlssen.
S stetremib T AAClkuelufisy A e6irug,) it Fla &S sreira. Qs eneu
GeustreufliuL g fev Aeiraumiomm @blésemid.

«S

—1A

MBLFFHETT S FY SHeml WD

Bl p& Ss6T eT6tTUZ) 6T(1PWMH ML LNBGET S eM6T ssThles Qg menL_Li
difleyserr sTeiTLS Tev, g MenL s QameTens.saflyeTem eTevsvefg oot
seflgé OlslenssEnd Hawsfameryb EYGIEANTGEY- Y

(1) Blguy Hlspsd
wrEiflCleuefl geirdaisiter g Hlsipay A @eir wrHAiysrefigsr
salihg eememw wrAfliystellseners; CanerL HapsH A

Qer Hiply Hapéd ereriu@id. @ A @errred &H&suupib.

% =W 5 s
7 2 Bepoiul OrGssb A eremapyid
A Bl&péHenws: &mls @ .

/// K={Xe_5;XeA}

Fe 50 3.4.5)
B2 5)
A={1 4}

(2) Qw Hlapéfsefler qeardliy
e urhml uflGangemeruisr LTHNGausfl S @ A, B
stesrue @\ e A6 ereirs. A @ayisen Sisvevgl B@syierer
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Sisvsugl A, B o flw @ipetirig syi(peirer stevsurt om Sliflliysieflsener
wib Qe Hapsd A, B ereepid flapsfseflar ey
sTeriiupid. @z AUB Qerrey @l&auu(bi.

<3S
sluppiule dir@Gssnd  AUB

sTeenId HlapsHenws: &MHle@b.

| TL AUB={XeS; XeA sieg XeB)
A B
Eg:S={1,23,4,5}
A=f1.3.5} B={d5)

AUB=1{1,3,4,5}

(3) Q5 Hlap&faefler QenL Gl (b

o sturmmi ufiGsngenerulesr wrHfCleusfl S Qs A,
Bersstusor @5 Hlapsflg:er eteirs. Qeiall(n 65 p&Haehs @b
Qurgeures eTsueur AL Yereflsmeneryyd Qe Hlapss
wreng Qeuel(s Hapsd safleargin QenLGeaul® ereriu(bid.
@8 ANBQ@ermey @hleaiubib.

b
sluppuuL L SigGssw ANB

sTerenip Bl s Henws D8 b.
ANB={XeS; XeA 2 bXeB}

]
At B
Eg:5S=(1,2,3,4,5,6,7}

A={2,3,5) B={4,52T7)
AAB={25)

(4) @ HapsAsaier afgHursd X
e erurmmi uflGsrgeneruilsr wrHfCeuafl S Qv A,
Betsiruesr @5 Hlspsfaer eters:. A @G o sitengip B@Gsv
@svsvr g gjomen wrHfiysreflseners ClamemrL Hlsps £ Qeued(m
Rapsflaeflergio elgSuresd ereruu(blio.
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9@gl A - B @errmev @mlsa0u()D.

S
BlepmuurL BpGsaib A - B steirayiid
Hlapsflenws: @& @.
A-B={XeS; XeA 2 bXeB}
A B
Bg:S=11:2 345,06}
A={2,4,5;6}
Be{G] =7t
A-B={4,6}
Note: (i) A-B=AnB

(i) A=(AnB)U(ANB)

H&pFHaEB5HEGD CUMT(BHSS SnlspWl
QgrenL N6 :

sTurmmit uflCamgenser eeirlsr LrHifGleusfl S @sv A, B, C
TeuTLSTT WTSTUIGID e6st M| S p& a6 61607,

1) uflaurrggenes elifl:- AUB =BUA
AnB =BNA "

2) Boigd afgk-  (AUB)UC = AU(BUC)
(ANB)NC = An(BNC)

3) umibusy e~ AUBNC) = (AUB)N(AUC)
AN(BUC) = (AnB)U(ANC)

1) HCuraer e (De Morgan's Law) :-
(AUB)=ANB
(AnB)=AUB

5



A, B, C eretruse wrdflCsuefl S @leyjsiren
wrgmuilsnid eweirm HlapESlsem 6T6S.

(i) A wrgdyd Hapse (ANBNT)

A_+@+B

!
G
(ii) A wyd B wd wrsHyd Hepse

(AnBNC)

C

A*@«B
!

(i) iy HapsHaesid Hapse (ANBNC)

A—»

—B

(iv) gmgggy e fapsdurag Hapse (AUBUC)




(V) @@ PspEd v G Hepssn
(AmﬁmﬁﬁdBmeE%%Cmeﬁ)

A—i» «~—B

9

(vi) @5 Bl&ps a6t s HiTid AEATE)
(AmBmEﬁ%AmCmEL%BnCnX)

C
(vii) s Hapsdaesd HapTHnssn (A UBU C)

N

A— —B

xT

C

@loy: 1) n(A) eTesTugy Asteirn s Aulyeirer o ifiisitefsefledr
sTevr sl S emaenwis; (&8 sl.
2) n(S)eteitugy S eteurm wrEfGleusfluflsyisirer wrHAiysired]
sefletr eTevmenildenamenus, & H& @ b.



M&L&®6Y (Probability)
@&MNsEs @ feDed penLClumSDHETET &FMdHlusan Hlense
Sjerremmeneuns HUNGHID @i Henfls serailh) Hebssa) sTariu(bi.
e Hlapsfl peaLCupagnaner flapsse

wrdfCeuafl S Qeyieter A etarm HlapsH HenL GlumIUFDHS: 6T
Bapssa P(A) sperg)

n(A)

S

@esrmsv G yLIL(HID.

Eg:1) GanLnmg prewwnd aTm SeawLlubhsImg. Some
Ggrert meusMSHTeT Fl&HDS &6 WTg)?
@uufCsrgemengamen wrHflCeuafl S eTesflsn

S={H, T} = n(S)=2
sene alpaugmener Kapsflenw A eTears.
A={H} => ‘nA)=1
auenyeilevs: g 600 & SleurLily
n(A)
POA j=——
(A) 2S)
1
P(A)=—
(A) 3

25Cau genev ell(paugmarer Klo0s s %%@,m.

2) (5 oUlenIET 3 (PSBISSHEBD 2 MEUTEIS(EHD 2 6TeTem.
eT(RLIOHDTS: THSSHULHID @ QUITBET (PSHBTSH QBULSDH
&e HleDSHa) WTg)?
wsal - P, mmm’n - D eteira.

@uufGesrgmensamer wrHflGsuafl S sresflsy

S={P,P,P,D,D} = nS)=5

e(h&SHLUHID Qum(BsT (PSHBHTe QBLUUSDSTET Hl&psHlenw
A stairs.

A={P,P,P} = nA)=3

8



_n(A)

P(A) )

3
P(A)=—
(A) 5

3) QG Brewrwd GiHpenm & LuBEn . G\(Hpenpwid oGy

Cum HenLlugnarer Hapsse wrg)?

QuuiiGsngensmrsamen wrHAQaef S ereirs.

S={ HH, HT, TH, TT } = nES) =4
Qpeopuid g8y Cumy HeLiugpane Hapsdeow A
6T6UT &,
A={HH, TT} => n(A)=2
sy |
nS) 4 2

2458 Qmpenpwid Gy Gumy HevLLugmHamer
; 1 :
Blapssa P

&y Mapssasarer Cusyerer aueniyeflevs: s ewrmisefled) G Hs,
(i) 0<PA)=1
(i) PS)=1
(ii1) urﬂ@éng,mm garhler QuDGUMISET SweHSTULKISTTS
Sjeowwb@urg wrEHrd urellssluL s,

(iv) @gI uswenLw Bl&pssas Csnstans seriu@Ib.

8@ Ha)sf peoLGupssHaner Hspssa
wrdlfiCluafl S @ A ereirm ;_f,]s,[géélmmé, &(HGIH. A eTeirm
Hl&068 penL_Gumiugheer Hapssa P(A) sTefle, A stsitm & p54)
oL CupTsshaner Hapsse 1 - P(A) @erms sriu@io. Qs
P(A) @enmer @Blésiu@i.
P(A)=1-P(A)

~ P(A)+P(A)=1

9



@nig A, A ersitue Hiyiy & & Ssst ShS1D.
Bpieuso:-

wrHAGeusfluflss A eTeirm e & Hlenws:
—S  &HBEIS.

n(A)+ n(K) =n(S)

>|

@@ussypd n(S) @erre NM&GLCUTS
n(a) , n(A) _n(S)

n(S) n(S) n(S)

P(A)+P(A)=1

Eg:i) S={a, b,c,d, e },A={a, b, c} ererflev P(K) 03, SHITET S?
nesE="9 n(A)=3'

LR
nisSyE i

P(A)+P(A)=1
P(A)

P(A)

oo
5

23
5

ii) |QgnL&aW 6 susny @evasifllulL. CarLng sSITWHS
STWSSHL 0L 66T M| o_(BLLiuGEDG. Gzmermid eTevor 3
@sir QB &S10Te Geveurios G\HLUSDSMET &S 56| WTH?

Gg et mub 6Tevor 3 QT GBS SL0MS: @BLusDSTeT Fl&0s S

A 61657,
S={1,2341756,} = nS)=6
A3, 6} = n(A)=2
L

n(S) a6

1
P(A)=—
(A) 3

10



“

G msirmil eTever 3 @t Gl B8 108 @lsvsuriosy QG
HspEH A oy@ .
P(A)+P(A)=1

Blepsflaaflenr gnt e el

A, B stettue wrdlfiCleuefl S @aysirer G Hl&HpE 6 6Tesfle,

P(AUB) =P(A) + P(B) - P (AMB) LIRS

Bl mieusv:-
=
n(S) =n
n(A)=r
A A n(B) =s
| I n(AnB) =t
& 5B
P(AuB):n(AuB):rﬂ;—t
n(s) n
pEROm LS 0l
S

P(AUB)=P(A)+P(B)-P(A N B)

Eg: 1) P(A):%, P(B)=§, P(AﬁB):% stefls. P(AUB) @&

ST6UT &7
P(AUB) =P(A) + P(B) - P (AmB)
[degp iy
=t ———
SiE 5
s
ol

11



3 i
Eg:2) P(A)=%, P(B)z%, P(ANB) == etarfle P(ANB) o4

ST & ?

P(AUB) =P(A) + P(B) - P (AnB)

P(AUB)+P(AUB)=1
%JrP(AuB):l
P(KTB’)=%

lBwrasir ey, (Kﬁﬁ) =(A W, B)
P(ANB)=P(AUB)
b g
P(AmB)_E
Eg: 3) P(A):-Z-, P(B)=—;~, P(AmB):%mﬂsb etr (T eueTT QU
M HTEVMS?
(i) P(AUB) (i) P(A) (iii) P(B)
(iv) (AnB) (v P(AUB)
(vi) P(ANB) (vii) P(BNA)
efleni: (i) P(AUB) = P(A) + P(B) - P (ANB)

P(Auls):—3’—+l—l -
_ 82 4.8



(v)

(v1)

(vii)

|

=1-P(ANB)
HAUB%ﬂ—%:%
l \

(AnB) (AnB)

A=(AnB)U(ANB)
P(A)=P(ANB)+P(ANB)
P(ANB)=P(A)-P(ANB)

B=(ANB)U(BNA)
HmzmAmm+WBm@
P(BNA)=P(B)-P(ANB)



Eg: 4) wevmeusr SyymiigS) Hlmiessoto spestrhle 50 Gurt ueslyfdlesTmestr.
Qartssfley 40 auwdHEGLuL ulLgmfesr 10 Guri. 40
awdn@ CopulL ulLsmissr 12 Gurt. 40 auwHMHE@SL-ULL
UL s seonGsmi 8 Gur. ulLgnfsefler CgmenL A
Sp&a|n. 40 awdhe ul Cunflar GameL B spsed
@ (BHSTe N6TTaIHASTAIDENME: SHIT6w5?

(i) -PCAX) (i) P(B) (iii) P(ANB)
(v) P(AnB) () P(BNA) (VD) P(AUB)
A = {ulLgmflger}

A = {ulLgnissr Seon@si}

B = { 40 e oL ul G}

B = { 40 s Cuopul GLm}

i) A=(AnB)U(ANB)

P(A)=P(ANB)+P(ANB)
61
P 5t as
(i) B=(AnB)U(ANB)
P(B)=P(ANB)+P(ANB)
S
595 %
G p(AmB):lS
(iv) P(AmE):i
25
o
(v) P(BmA):E

14



(vi) P(AUB)=1-P(AUB)

P(AUB)=1-{P(A)+P(B)-P(ANB)}
{11 9 1} !

J=l-d ot ———t==
el st IR

Eg:5) gefluni sevell Blenoowid esirfler o _wiissvall Luflsyid 50
IDITETTEUTS(EHET 5 S 6TTH6T HEMEV(WPlg.60W [FETS: &n bSO
susT g geemeutir. 10 Glusser o g0 20 2,630 & (EHLD &6meV(Lpls. 6L
SLEMLWITS Oleul ly WeiTemevTrT. (ol S (EHeT s(Hour 6T(LpLomm
&5 ClsfaslwiulL med et b eeTiggsTer
Clustreas: @BUUSDETE Hl&DS &0 WTE)?

A, B eresrenin hla: & fseneris lS]s&rm@LoerJ suemTwenm GlFwis.

|

P(

>
o]

U

A = {&bgsv eusrriggerCemm}
B = {Quessra6r }

A= {Bemsuly sLlenLwims GeullpwetCermit}

B = { syetmaer |
P(AmB):%z%
P(KmB):—ls%zé
P(Kmﬁ):—?%:%

(i) P(A)=P(AnB)+P(ANB)

P(A)= %JrP(AmB)

(i) P(B)=P(ANB)+P(ANB)

P(B)= %4« P(ANB)

(i) P(AUB)=1-P(AUB)
P(AUB)=1-P(ANB)

3

2
P(AUB)=1-Z=2
5 5

15




(iv) P(AUB)=P(A)+P(B)-P(ANB)

3
_:L+P(AmB)+l+P(AmB)—P(AmB)
S e
—3—=i+l+P(AmB)
Sy
P(AmB)—i

10

2b5G6a G flwiubuar F.bse eueTiggieTer CluesTewr s

e ; 3 :
QuusDHETET Hl&DS 50! 10 e

uufip&l 1
s P(AuB):%, P(A)==, P(ANB)=— eresflo P(A), P(B),
(AmB) ( ) 6T6STLIEUM 60N > ssrrsn‘or#,?

2. P(Anﬁ):%, P(KnB):%, P(Kmﬁ):%mﬂsb
P(ANB) @& srews?

3. @ urLsmemeulle o wisy eu@ullsyerer 100 wmewreurser
aflhepreufiflefeyn Henelfflellgid sevell uullsvElse meurr.
aflshepmestls Mifleflsy Hevall smusurrseaflsy 40 Gurr oy evuraeno 20
Gurr Quettr & (eHLD peurt. HensuliNifledlsy Hevell &mElesmaurT Herflsn
30 Gurt oy 6v0rS:6TIT(G 1. QAT S (EHET (eI 6T(LMTHMTS S Clg ey
Qewiiu L ey @eur seneolififlelsy sevell s:m&lestm Cluessrews s
QBULBDHETET BlHDSS:e| WTH?

4. uenpw eumseriGHeT alm@b eflmusne BHlensvwig ey 20% oy e
QUTSHETTEIS(Eh&@ 6T(EhSletr Qlsvensv. 40% syeur aunaserrmigeflsn
gwrgser GCguiauenLbalererg). CoiaienL b Fuwirsenerd O\smevr
(ser 15% 2p60T UMS:6uT RIS (EH5:E 6T(EhFleT Fevenev. 6T(LpTm
mrsg Cgfley GleElniubid b QUMTSEHTID Hevey TWLENTLD 6T(6hE)
enesTid GG mesTly (FLULSMETET HSDSHSH6] WTS)?

5. e urLemenawlley 26 oy Sfwursst uswllyfdlarment. ulLgmfl
Sy FMwiseflen etemmenflaong 6 2_b uLgmfl gy Slflenwsaflesr
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sTermenflsons 7 2 b UL gl ovens opHiflwirsefler etesr
susll 608 521D 94,& . sT(PLIHDTSS G5 MlayGF nuinBib emeurt
L gmfl opvers SpAflenwwns QriusnaneT Hlspsseay
WImg)?

Stbupsit ymhmigd Maihsyset
(Mutually Exclusive Events)
wrglMCleusfl perdlsyster A, B ersireniid @\ s & &a:(6m8 @b
Ourgiaunss wrdfliyereflemer egian Qeenablwesln oeaedim
hlapsfla@Enh Hbpst UDBRIGD HepsSger stariubib.

S|STeuG) AnB=¢ —— S
SP(ANB)=0 }

speormew. P(AUB) =P(A)+P(B)-P(ANB)
P(ANB) =0 sysevmev
P(AUB)=P(A)+P(B)

sTewr@eu A, B eTeiramin @5 Hlspeys@pid SbUpsT LmBHIE s
eT6ufls0

P(AUB)=P(A)+P(B)

Eg:l) A, B ereoremiip gidpst ypdmi@h @m HepssErs S
o I R - :
P(A):g, P(B):g stesfles P(A UB) @8, snerma:?

P(A)=1-P(A)=1-

P(B)=1-P(B)=1-==

A, B etetrues gibipe Lm B euesTeumenawmsy
P(AUB)=P(A)+P(B)
11

¢
P(AUB)=-1—+::——
Sl S
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-Eg:2) A, B etstruenr wrdfGleus @sz'rr@@_]si‘rark wrgmllenin @\(m
Paajser ersirs. P(A)=0.58, P(B)=0.35, P(ANB)=0.22
eTeefley Qeiiefl(p HlomDaysmEnd SDIPST LDBRIGEIST 606

sTen s &L (s,
P(B)=0.35 ,
P(A)=058 ' '= - P(A)=042
~P(A)+P(B)=0.77

P(ANB)=0.22

P(AUB)=0.22 ($Curseir el
1-P(AUB) =022

P(AUB)=0.78

~ P(AUB)#P(A)+P(B)

steorGeu A, B eTetruest gibipsit LmBEIG a6 isvev.

Eg:3) | @Bhg 6 eeng @easibliuulL Csrins @
STUSSHL L ST @aTons o (FLLlubharmg). Gzmeirmib
1601 S:61fl68T Sn.L_(HSCIBTEN S 7 pevsvg) | 1 oha @(BLUSMSTes
Hapssa| wng)? :

aflen: @QUUAIGamgenen g e e wTHfGleusf] S sTevflen
S U SR B 0 ) AR S e (6.5), (6,6) }
SN (S) =36
A, B erssrgniid s pesenem NlesTal(LOM M) 6UEDITILIM)IS: .
A = | Gareirmib sTevurs6rlstr onl (H&O\HToNS T }
B = { Gamerrmiid sTevormaflon sl (HEGlGTens 11}

A = {(1,6),(2.5). 3.4), (4.3), (5:2), (6.1)}
1

n(A)=6 = P(A):g
B = {(5,6), (6,5)} N
n(B)=2 = L

18

Qi A, B estegr Qi HlebejsEns@n Qurgieames
wrdlfiystaflemst @svenc. etemGear A, B ereirues glbper
UBESID Bl&DayseT.
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P(AUB)=P(A)+P(B)
P(A'uB):l+L:g
B leh
epeur i Blep&Heeflesr gL e afld)
Q@ ufGsngenssuiesr wrdlfCeefl S @ A, B, C ersirue
wrgmuile|n tpeiTm) Bleps &6 eToir s,
P(AUBUC) = P(A) + P(B) + P(C) - P(ANB)

- P(BNC) - P(ANC) + P(ANBNC)

1 mieuev: -

P(AUBUC) =P[(AUB)UC]

=P(AUB) + P(C) - P[(AUB)NC] =-=-=-=--=== (1)
P[(AUB)NC] =P[(ANC)U(BNC)]
= P[(ANC) + P(BNC) - PLANBNC)]-------- (ii)

(1), (i) =>
P(AUBUC)=P(AUB) +P(C)- [P(Ar{C) +P(BNC)-P(ANBNC)]
=P(A) + P(B) - P(ANB) + P(C) - P(ANC) - P(BNC)
+ P(AnBNC)

=P(A) + P(B) + P(C) - P(ANB) - P(BC) - P(ANC)
+ P(ANBAC)

Eg:l) Gamupndellshg) usormed) aflores flensuws Em@ s Hrsflsy
tpsstm) eflomenrmisst ymiubdlsirment. eeirmy eomes s epid
srflwrss GpySHDE, aub gL augmare Hl& & Flg61 (penmGuwi
A.B,C sy .

P(A)=0.93, P(B)=089, P(C)=091, P(AnB)=0.87,
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P(BNC) = 0.85, P(ANC) = 0.86, P(ANBNC) = 0.81 eteurs,
SyuuL[HleTer). @b epett M) eTOTEITEIS: EBET 288 GHODHSS
gsirmreug) sflwrer GHySENE ubSeML QISD e EINELT
wimg)?

enL: SEEGODHSS @b efwremomaug sflwumer CrrsdHne
aupgenLwd Blapsdl AUBUC gy ib.

P(AUBUC) = P(A) + P(B) + P(C) - P(ANB) - P(BNC)
- P(ANC) + P(ANBNC)

=0.93+0.89+0.91-0.87-0.85-0.86 +0.81
P(AUBUC) = 0.96
&y~ A, B, C eretregiid eipsirmi Hl&p6eysEBLD  p6E MIS06ISTew M)
S(ipsT YmBrEI@euser eTewflsv,
P(AmB) = P(BNC) =P(ANC) =0
P(ANBNC) =0
* | P(AUBUC) = P(A) + P(B) + P(C)

o0

Eg:1) A, B, Ceraituenr @eirfip@lsmeim Sbwpst UDBEIGSD ewss Dl
Blaipasst Sp@b. P(A) =02, P(B)=0.3, P(C) = 0.2 erseflev
HesraumeusTauDenMmS: &Tever &>?

(i) P(AUBUC) (i) P(BUC) (i) P[ANBUO)]

eflen: () A, B, C stetrusst gb(pe UmBmi@eusst 6T65f 160,

P(AUBUC) = P(A) + P(B) + P(C)
=02+03+02
P(AUBUC) =0.7
(ii) P(BUC)=P(B)+P(C) (B,Ceteitues sio(psi Um B euewT)
P(BUC)=03+02=0.5
(iii) PAN(BUC)|=P[(AnB)U(A nC)|
= P(KmB)+P(KmC)
= P(B)-P(ANB)+P(C)-P(ANC)

=03-0+02-0
P[AN(BUC)|=05

20



Eg:2) wrdfClaest] qsirblaysirer wIrSTuenin eweir m) Bl& & s emmest
A, B, C @6 A wbd B i gidupst ymbri@susst. A yib C wb
Sbpst ynkrigeawer. P(A) = a, P(B) = 2a; P(C) = 2a,
P(BNC) = b, PLAUBUC) = | eresfleb b = 5a-1 TS ST (Hs.

: ol 1 : :
SIS GIL68T - <a< gsrmsqw ST (ha?

P(AnB) =0
A

P(ANC)=0
P(BNC)=b
P(AUBULC) = 1
P(AnBNC) =0

A

P(AUBUC) = P(A) + P(B) + P(C) - P(BNC)
| =a+2a+2a-b
b e

BAC=0 eafss b=0
5a-1=0
1

a

Il

5
BNC =B sterflsv P(BNC) = P(B)
b=2a
S5a-1=2a -
Sa =1

245Ceu
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Sb(peT ynBrEIGD Quendleneul urellg G
Asipsse upBlu Capprisemer Hniaise.
(i) P@) =0
Blgieusv: S, ¢ sTeTTLIET BHiD(PET UDBEIGD @5 HepsHE6T S0
S=Sud;:SNd=0
P(S) = P(SU)
P(S) = P(S) + P(9)
P(¢) =0
(i) P(A)+P(A)=1
Blmieusv: A, A erestuest (6T UDBRIGLD @B £ 06 ST DS
S=AUA A A=D
P(S)=P(AUA)
P(S)=P(A)+P(A)
~P(A)+P(A)=1
(iii) P(A)=P(ANB)+P(ANB)
Hlmeuse: ANB, A B ersiruss sidpet UpBrIGD Qs Hls e
ST (& LD.
A=(ANB)U(ANB)
P(A)=P[(ANB)U(ANB)]
P(A)=P(ANB)+P(ANB)
(iv) P(AUB)=P(ANB)+P(B)
Blmieue: ANB, B srsiruss sbpst UDBEIGD @B ENDIEL ),

g;b@io.
~(ANB)NB=0
(ANB)UB =(AUB)N(BUB)=(AUB)NS

=(AUB)
~AUB=(ANnB)UB

"P(AUB)=P[(ANB)UB]
P(AUB)=P(ANnB)+P(B)
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LSH A 2

it

o

A, B stestusr st ypBrigh Hlepasstraan P(A) = 0.3,
P(B) = 0.5 spaaib @rllissr Qetraimeusmaumennd smevms?

(i) (AUB) (i) P(A) (i) P(ANB)

A, B, C erstruesr gibpst ypBriso Qe mi Hl&pesemmaab
P(A) = 0.2, P(B) = 0.3, P(C) = 0.4 sysap @puler
HeTaumaleaimenms & mesmas?

(i) PGAUBUCQ) (i) P(AUC)

(i)PAn(BUC)]  (iv) P[(AnB)uC]

I Qgmssb 6 ey @essbliu L @ Caring smws
SLNL&6T 2 (FLLUuhFleTmal. @ STWSSL_enL el g
mLpSsefler s H50sTems 6 @aib @smmeurs Sjvevgy 10
Qb s.OBevTs QBLUSHSTET HlSpS S0 wImg?

| Qsrgsbd 6 aieny @essbliul L @@ Camins smwus
SLenL &6 (S 2 (FLLIubHSTDE. @ STUSSL e
sflergid mlbéseflar sl Hs0smems 5 Qb Gampeaurs
gl 9 Qb sHsors: Svag 7 ous @BLUSDHSTeT
Bl&0s560] WTg)?

A, B, C sterrmiinewpsit mi Hlaspeygseflsn A wip Cuyid sib(pst ymkEie,
QUSTTEUIT(GLD. ‘
PCAY=PIBR=P(C)=2a

P(AB) = BBaC) ='b

P(AUBUC) = | gyaaib @mhams 3a - 2b = lerars s (s

1 Lok 25
Guosyid ESaS%‘ﬂmme P(ANBNC) @air oyglonipw

GlumiomesTid %ﬂme‘qm S (hs?



FTIT MsLpsysEaT (Independent Events)

wrHAQeell @ardyster A, B eraregid @5 Blo:peys e
&mmhlspaser eTesfls,

Eg:1)

Eg:2)

Eg:3)

allenL:

P(ANB) = P(A) - P(B) | sy@i.

A, B etetruser wndfGeuell qerdlyerer Qp smymblsne
serm@b. P(A)= —i—, P(ANB) =% steeflso P(B) ;& smevnas?

A, B snpmhlspe|ser eTaTUSTs
P(AnB) =P(A) - P(B)

3 2
=
9
P(B) o

A, B stesrucer wrflflQleustl sestiflsyieiten @\(p Smymblspayser
ereflsv P(A)= % P(AUB)=% 28 @phsme P(B) o8
STET S ?

P(AUB) = P(A) + P(B) - P(ANB)

A, B srmprflspaygser eTeufley

P(AUB) = P(A) + P(B) - P(A) - P(B)

S 1
= =P (D)

5
e
— =Zp@®B
Ly
2
P(B) ==
(B) z

A, B ersiruen wrdlMQleusl qeilgister @5 srrmblspals
etm@b. P(ANB)= %, P(AuU B)‘z % etesflev P(A), P(B)
TTLEUMMIETT GILIMILDITETEIFHENETS: 8 T6Tur &>?
P(A)=a, P(B)=b eterra.
A, B sngmlsbeyser opseme

24




P(AnB)=P(A) P(B)
% =ab ——————— (1)
P(AUB)=P(A)+P(B)-P(ANB)

5
= =a+b—l
6 3

@),(1) =

125 ¢
at—=—
ShEE)

3a’+1 7

— i

3a 6
ba’ +2=Ta
(Ba—-2)2a-1)=0
1

or a=—
2

1

sTesflev b = a=— erevflsv b=z
2 3

5
>
(D A, B erstrussr smgm Blspsfaer erefler eummiesr My
BlapéfaEno smym HlapsHasr oy s
A, B erettues e flsipeysseir S SEVIT6Y
P(AnB) =P(A) - P(B)
P(ANB)=P(AUB)=1-P(AUB)
=1-{P(A)+P(B)-P(ANB)}
=1-{P(A)+P(B)-P(A) -P(B)}
=1-P(A)-P(B)+P(A)-P(B)
=1- P(A) ~P(B)[1-P(A)]
=[1-P(A)][1-P(B)]
P(AnB)=P(A)-P(B)
6ter@eu A, B eTstrussr Fmym Blapes.er (G LD.
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(II) A, B etestussr gmgm Hlapsflaen ererfler A, Betsstussayld Sy
BlapsHlaer oGS0
P(ANB)=P(A)-P(B)
B =(AnB)U(ANB)
P(B) =P(ANB)+P(ANB)
P(ANB)=P(B)-P(AnB)=P(B)- P(A)-P(B)
=P(B)[1-P(A)]
=P(B)-P(A)
- P(ANB)=P(B)-P(A)
cTerGeau A, B etesTusTTayd ST [LESTTNENS TG

Eg:1) P(K):%, P(B):%,P(Km—ﬁ):%srssﬂsb A, B eTsirussey.
A, Bersirussiayid sy HlansSleer eTer s SML(hs?

= P(A)=

c1sr@eu A, B eTeitUen ST Hl&HDISHET Sh@SL0-
— =1
P(ANnB)=—
(RnB)-1
—_ 1
PlACU B
(xTB)-1
)



2

Spermsy P(A)-P(B) = 5

o0 | i
W | —

~P(ANB)=P(A) -P(B)
sTerGeu A, B etettueer sy Bl&weyser oy @b,

Eg:2) semreusir 10 U(BL-mISEh5 @ Gosd 2 Wil eurpeusma e

Hl&pgse, % SHSLD. m&mmaﬁ] 10 eu(pLmia 658 @ Guosd 0wl

QUTPEUS M TeTT 151 556 % 6T65flsv, Sletreupeusst eum i & mest
B&0s 508618 &memra,?

(1) @meumd 10 QUBL RIS @5E:S Cusd o uliteumipsen.

(i1) eTeuB@o 10 eumLBissir 2_Wireumipr £m & sev.

(i) eomH 58 e(BeurmTeug) 10 eupLmiser 2_ufireurripgev.

(iv) wenssrel wr& iy 10 QUBL-mIg6T 2 _ulTeumpaen.

(V) semreustr wrgHiyip 10 QUBL-EISET 2 ulTeumipgsv.
A, B srettanin @\ flsipaysemeris Slesreu(piom my QUETWMIS S

= {semmeussr 10 QU(BL 18 (6155 GLosv 2_uiiieuripgsv. }

= {wenesed 10 QU(BL 515 (6158, Glosv 2_ufreumpgsv. }

P(A)=7, B(B)=1

= {seomeusst 10 eu(mLmiseir 2_Wlireurpr &m 5560, )

cul >l

= {wenerrall 10 auBL Bis 6T o_Wireumpr Slm & sev. )

st S 5 = 2

P(A)==, P(B)==

®)=2, »()-2

Qg A, B erettue smym Bl&pesern@h. sterGeu A, B
6TETTLGTTeYD STy 1% D6y e (S0,

(1) AMB= {@meusid 10 SU(BL 518 (6156, Glosh 2_ufifeuripgsv. }

P(AF\B) = P(A) P(B) (&mym Hl&heyssr)
T 4737212
(i) A N B= {@weuiv 10 QU(BL 1865 G o Wireumipmdlme s,
: P(Xm E) =P(A)-P(B) (smyr Aapeysen)
4 a2
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(iii) AUB = { @eompa 8l @marrag) |0 aipLmaser o_ullreuripsev. |
P(AUB) = P(A) + P(B) - P(ANB)  (smgm flapeyser)
Eesbil )

PEAUIB) —— ==
e g
(iv) A N B= {peneed wrg yd 10 eupLriser e uliaurpse. }
P(A N B)=P(A) P(B) (&MY BlapeyssT)
p(KmB)zi.l:l
4 3 4
(vV)A N B= {semmauss wrgrd 10 aupLmise e uliramps.}
P(A N B)=P(A) P(B) (&TyT HlepaseT)
P(Amﬁ):-l—-—:i
4 3 6

epeit M Blapeysefier smymen

wrHNQeusfl eiriserst A, B, C stareiid epssrm) I EILIEAG
sngm Hlepeyser eresflev,

P(ANBNC) =P(A) - P(B) - P(C) | =p&id.

Eg:1) @@ Bresmwiomeng] (e nipenn Sevor_LU(HEDSI. ePsTT M
(peDWYD Semev Cg et miaSHMm S meut &0 Se] WTg?

1 1
P(H)=— P(T)=—
e (T) 5
eL6ET M) (PENDID SHenew QUmISDHSTET FlaHpSHSe P(HNHNH)
SLG. Qenau smrm Flaps a6 SpFeTs
P(HNHNH) = P(H) - P(H) - P(H)

PlHo H o) S — =

Eg2) g oforerb gpeirm Qublytisenens Qamesw(HsiTen .
(PSTaIZ QUbHSITD L(RSBEOLHSTeV @yevor_meug) Quib o
Qewupu@b. @rewLmeag QupbSlT LSO ST60
epsiTmres Gublyo Qawnu@id. epsTm QubEITHISEB0D
sexfgseNIGw LIRS uSDHSTET &S 5656 (peornGw
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0.15, 0.2, 0.25 &y@b. QuepsTtm @b &iym & (en 0
LRSI WTSSDSTET Hl5HDSE:6] WTg)?

A, B, C eretremid eypsirm Hlapssasenemyb lﬂb‘u‘rm@wngj
susmr;ugus,a,

= {(paovrag Qubdrb uwsemLgsn) => P(A)=0.15

B = {@ewrLmeugy @uibdlyio ussaLge) => P(B)=0.2

C = {perpreig @ubHd useLsn) => P(C)=0.25

: QidepetTm) 1S58 645 (6T51D gerDolsreTn smym Hsbey

STMGD. 245G Qbeweirm QwhElTEis s LS enL
ugmsrer Hspssa P(ANBNC) oy@b.

‘ 2 P(ANBNC) =P(A) - P(B) - P(C)
P(ANBNC) =0.15 x 0.2 x 0.25 = 0.0075
sTerGeu Qubewestm Qb Eymis enid (LS EOL_ILIT & &M & 60T
Rapsse P(ANBAC) ap@b.
;f%AmBmC):l-HAmBmC)
P(ANBAC) =1 - 0.0075=0.9925

Ggpmid:

A, B, Cotsiramib eerrmy 1Fl5:peys (o500 @mg&@&nmgﬂ ST
Hl& e ser eTeufley,

(1) Awb (BNC) wid

(i1) A wio (BUC) wio Fmgm Bl De&:6T 2 &0D.
Lf;l@susb:

(1) A, B, Cetssrues smym & De&H 6T S6umen

P(ANBNC) =P(A) - P(B) - P(C)

P[ANBNC)] =P(A) - P(B) - P(C) ~---------- (1)
? -Sperev B, C eretrusreyo srmym s peysermgeursn
PBAC) =PRI PIC) - (2)

2) 2 (1) @6 S mev,
P[AN(BNC)] =P(A) - P(BNC)
eTeerCeu A wib (BNC)wyid gy 161516 S 6T 0.
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(i) P[AN(BUC)]= P[(ANB)U(ANC)]
= P(ANB) + P(ANC) - P(ANBNC)
=P(A)-P(B) + P(A)-P(C) - P(A)-P(B)-P(C)
=P(A) [P(B) + P(C) - P(B) - P(C)]
=P(A) [P(B) +P(C) - P(BNC)]
=P(A) - P(BUC)
2 P[AN(BUC)] =P(A) - P(BUC)
ererGeu A wid (BUC)wip &y Hl&peyserm&id.

&y Ay, Ayl Lt A, 616t LI6TT wr HrflGleusrl
qethlgyster nEmyT HlopaissT eTeuflev,

P(A|NA; NA N (i AL = PIA S PA, e P(A,)
SHSD-

Eg:1) GamLng Mmmewnwid 66srmi - SL_eneusst e LubHEMS!.
seitempei(h @ SHLenal SeVCUDIISDSTET Bl&0S 50
WIrg)?

P(H)=— P(T)= ~1—

@eneu @m@surrsurg]w srrqrr IS D6YSET BpBEVTEV

P(HNTAHNTNH) = P(H)-P(T)-P(H) - P(T) -P(H)
&8 s L e R

PHOTHHATOH = e — i =—=0.03
DRI RO AR

Eg:2) e enuuliget 2 Seuliyll ubgis@bio 4 QleusTemeTll LHGIS(EBLD
o_eiremenr. WBsTeneuliyL 6t aICleUTETDTS: 5 LbSIS6T sT(Lom
ors e1hE&suLOESTDS. @eveu gmym HlHDayseT cTeTS
Q& Term(®) (PBVTaUS] SLnaILD H6oL &S SLenaid OEEES
AauliuTsab LHEODW SHLenaiser eTHSHSULLL S Gleusensm
wrsayd GHUUSDHSTET HHHSSmes ST6us?

250 4 2

R:—:— ==
e 6.3 S 6l
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PRAWAWNWANR) = P(R).P(W).P(W).P(W).P(R)
PRAWNWNWAR) =—.=. 2. 2. =0.033

Ll - 3

I

P(A)= %, P(B) = %, P(AUB) 22 stesflev A, B etesrues smpm
Hl&De &6 6Towrs: Sl (Has?
A, B etssrues gy flspeysermsaip P(A) = %, P(ANB) =%

2&a|b QBHsTe P(B) ms smenra?

A, B ersiruen smym Hepeysermaai P(A) = 0.7, P(B) = 0.2
Sp&aid QBHSTe  Hetrau(reoussTeum et Qumiorermisenens

STE00T S ?
(i) P(ANB) (i) P(AnB) (iii) P(ANB)
@iv) P(AuB) (v) P(ANB)

P(A)=038, P(B)=05 P(AUB)=09 etetfllsv A, B ersirues
MM Bl Deygerm?

grgsr senfly ufl sl Agduen_agnarear Hapssa %
G0, ST &owfls uﬁﬁmguﬁlsﬂ)' g Fuen_eugmse e
530556 % éb@lb. Qe BlapeysEsd STym Bleheayser
sTen & Clamevst(h - (Newr e euser eI & rrewr 551D 5 8 6)5 6615
STETT S ?

1) QEaumd O3 LHuenge.

(i) et wHb HHuenL g6,

(1il) p(meurmeig HgHuenLse.

(iv) @Boucsid N Hueniwimos G\pss60.
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HUH&NEN Hslpssa] (Conditional Probability)

Q6 eT(RLmH oIl ufGsngensuissr wmHiMNGleue] spetTIHlay|6TeT
@ Hspsfast A, B eterrs. Bersiepin Hsps8 Blepbgieig)
sTeu g STl A 6TeiTg)|D Hl& 0 & BenLOLUMIUSDHSTET Hl&05 50
P(A/B) on6urg)

P(ANB)
P(B)

P(A/B)= @eurmev HylL{HID.

Eg:1) P(AUB)= %, P(A)= %,P(B) = %aasﬂéoP(A/B) DEHGHTETTS?

P(AUB)=P(A)+P(B)-P(ANB)
2 ol

3 :1—6+—5-—P(AmB)
1
P(ANB)=—
Siioa
1
mAu»=HA“B)=4b=l
P(B) e 2

Eg:2) P(A):—13—, P(B):—i—, P(A/B)z—;-srsvﬂe\) )67 e (M eueTT UMD -

a@&&mﬁy(nﬂAmB)GDPMuB)(M)HWK)

: _P(ANB)
W PATE - e
1 PAAE
.
1
P(ANB)=5
(ii) P(AUB)=P(A)+P(B)-P(ANB)
b 0
300

(iii) B =(AnBU(ANB)
P(B) =P(ANB)+P(ANB)
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PAmB-=
g8 g

P(A):é =5 PUAY :2

P(B/K):@ 1_3— 1

o D 306
Eg:3) Cueswasr ssqr el o wismel ulsyid wremalsef
TSI eursmerg QunCmmisst ummMiu aflurmig@sh £Cyp
STuuLsterg). 15%openr wrewalsefler Qum@mmr
s r$g18 QF L Hhs e 25% Sy wresmedlasr &1 560160
rHuLeflsveney. srgefle mHULTE 10% oper wrswrealsaflsr
QuOBrTT eleursrsgiE CEwILHhS 6. @mwnmaﬂ&aﬂm

QUHEUT 6TIRLTMHDTSS OlsMayGFEuuiuL L me,
(1) QupGpni elersrsss Qe HhaTe o &1 56060
rHULme) @(BUUSDHSTeT Fl&Ds s Wrg?
(i1) @eurt &g elsv m@u;ngmqn& QBHST GQunCmm efleurrss
T551& Qs gear s QBUUSDHSTET K& pssea wrg)?
(i) QumCmrrr aﬁ]mrr&qé,gj# Qe saits.erTs: @\(HHsms Geurt
&ngefler FHULLarms QBuugnarer Habssay wWrs?
eflenL: ABetstrsg)inblspeseiidssTalmom m) QUEHITWMIS:SLU(H HeiTm ).
A = {oremellser srgelley FHUL (55560, )
B = {QupGpnri elleunsrsgis Qsuidmsssn.}
P(B)=0.15 P(A)=025 P(ANB)=0.1

(1) QupGprr elleurarssis Qs BHsmen oyt 1565160

FpULmos @(BlugDaTeT HlaDnssa, P(K/B)%@Lb.
L A
P(B) 0.15
(i) Qe s&rgeller FHULTSMTTS @/(HHSTe QumHBmrrr
aleursrsg QFlwunsaissmms @\(BlUusSHSTeT (AN
P(B/A) sp@b.
P(B) = P(ANB) + P(ANB)

33



0.15 = P(ANB)+0.1

P(ANB) = 0.05

P(AUB) =P(A) + P(B) - PP(ANB)
=0.75+0.15 - 0.05 = 0.85

 P(AUB)=1-085=0.15
P(ANB)=P(AUB)=0.15

P(BNA) 0.15
PR) i 0.25. 5
(iii) P(A) = P(ANB) + P(AN B)

0.75=0.05 + P(ANB)
P(ANB)=0.7

P(B/A)=

QUG el iy &51F ClFWILITHATHETTS Q\(FbSTsv Qleuit

&M E6dlev MHULLeurms @(BUUSMHSTET K0S 560 P(A/E)
ENCTLE ®
~P(A/B)= e 00

P(B) 0.85

=0.823

Blubgenen Blepssallsr Queyser
(i) P(A/B)=0
(i) P(B/B)=1
(i) Ay, A,,...... A sTetTUes Sb(peT UDBEISD HlsDels:er eTaufle,
PEATU AU T UA, /B)=P(A,/B)+....... P(A,/B)
SGID. Q@eneTil Netreu(Hommid GMIAL_sormid.

n
P(_&l A, /B) =Y P(A,/B)
J=

i=l

Bmieusv:-
(i) Blubgenes Bla s sefleru.,
Blaime
' P(B)
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P(AnB)20, P(B)20 erstrugmsv

P(ANnB) >0
P(B)

~P(A/B)>0

(i1) Bupgener Hla s sy,
P(ANB)
P(B)
A=B &5
P(B/B) = P(BNB)
She i
_P(B)
~P(B)
P(B/B) =1

P(A/B)=

& P[(A; "B)U(A; NB)U.......... U(A, mB)]
Y P(B)
(Al N B), (A2 (\B), ............. (An mB) 6TEUTLISUT SHID(LP6T Lim

BRIGD 6lo10648:6mTS60ms0
_P(A;nB)+P(A, NB)+............ P(A, NB)
: P(B)
_P(A;NB) g P(A, NB) CP(AL B

P(B) P(B) ¥ P(B)
=P(A;/B)+P(A,/B)+.......... +P(A, /B)

Il
'M:

P(A;/B)

=]
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fluRSSsD 6174 (Multiplicative Rule)

(1) e ufGsrgemeruiler wrHMGsuafluiss A, B etsirussr @\
Hl& e ermuliles,

P(ANB)=P(A)-P(B/A)

(i) ep uNGsmgemsmruliles wrHMGaefluliss A, B, C etetruss elpetr m)
Hl&peysermuiles,

P(ANBNC)=P(A)-P(B/A)-P(C/ANB)
(ii1) ¢ LNGsmgemerrudles wrHNGeusfluflsy
AT A etetTues n & e g6 Tevflsy

Qg enesl MetTeu(HOMMID (@ MldHeurid.

P(%IAJ =P(A,)-P(Ay/A) P(Ay/ A; A AS).....
i

n—1
........... P(An / Ol Ai)
Qg emers genfl550605M@SHsMa (Penmulermsy K miaievmib.
n=1gpa P(A)=P(A))
n=2 & P(A;NA,)=P(A)-P(A,/A))

n=P s4,5 Qld(pip6| 2_eurenio 6T6HrS.

p p-1
P(in) =P(A,)-P(Ay/A})...c..... P[Ap e Aij

i=l

n=P+1 o,

R p p
i=1 = i i=l

(- @ HapaysEBs:E 2 asmenip)

i

=P(A)-P(Ag /Ay, P(APH/(E Aij



24%C8eu n =p QDS (Piya e_evmenio sTexlleb n = p+1 @DS iy
2_ 6T EODWIM (LD,

Speurmey N = 1 QW& (ply6y 2_6vurenio.

2,5Ce1 n =2 QMG (Plp6| 2_ssTEnLD.

cTerCou FHewfll35065T@SsM (Pem epsud n @& eTeLELTL
QUMM ETTEIS (6155 @D Closy|6Te (plg.6f 26T ENLOWIM(SLD.

Eg:l) @@ SL0Ss ue(hha etmerilear oarmms (s m

FLD&ser eremeulifesrdl eT(RLIHMTS:  6T(H&SULHEIMS).
A, Ay Ay eteremin epeiTm Blapeys(enh  LleTeu(mwomm)
aeTWMISSULHEDS. A|6TSTUS] (PHOVTaIFHTS 6T(HESUU(HID
EL [ Haull ‘7ev’, A, eTeiTug) Qesormaugms 67(hda0upld
EL [ 10 eTeniid Qsv&:aid 20l WG| SevevG) DTS, AjeTerug)
EPETDTeUS TS 6T(HGHSHULHID FL(H) epeTTMley|id FnlayITS: SiVEVG)
7T Quib @enpains 2 _erTer QS &b S 2 Terg).
AN A, N Ajererteniin R pey BenLGumieIg DS Tee Fl5 0556,
wirg? ,

A (pgemeug) a0y eyen

A,: @Qesmeaug) 10 isvevg) gra

As: epsirpmeus 3 @ el &anl Soevgl 7 @ alls @enmey

2
il

8
P(A,/A)) ==

12
P(A3/A1mA2):—5~O—

Qu(psass ey,
P(Al mAz ('\A3)= P(AI)P(AQ /AI)P(A?)/AI mAz)
0r T ) 8

et OA3):§'§' 50 5525

2) @@ QuLipuieet 9 Bewmlersern 5 Heuly wrdlers eHo

2_erenent. eeimeTifeir eTms: WereneulidlesTl S wrrifleir s6i
ehSSHIUHEDS. 5 wrlleta@Esd Beowrs QBUUSDHIETeT
H&pssa] WTg)?

: Hevd - 9 Feuly - 5
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A, Ay, Az, Ay, Agetsitagiio Blapeys:sT (penmGul (pgevmeug,

@TERTLMTeuS), (PSTDTOUS], BT SIS, DHSTEUS SLEEUSET
sT S s0uUL L g1, Heul wrlleTHemTs @(HULEMS GDHlSHlTTS)
6T6UT .

8
P(Al): £l P(Az/Al)Z-l—S-

7 6
P(As/A{NA,)= v P(A,/A;NA, mA3)=_.11

P(AS/AlmAZm‘AmAAt):%
Qu(rsaer afldlluig.,
P(A;NA;NA3;NA,NA5)=P(A)-P(Ay/A)
........ P(As/ A nA,NA;NA,)
gr "RIEE 60y

P(A, mA2mA3mA4mA5)=ExExExﬁxﬂ—)=0.063

S gt \ 5
@sene wraufiuLb ppeopd Sisaemd. = A

10
6
it Ay -

A
s 190 ] D el )

LHA - 4

1. P(A):%, P(B) =—, P(AﬂB)z% steeflsv P(A/B), P(B/A),

4
3
P(AUB), (AN B), P(A/B), P(B/A) ersiruaupileir Gugorm

SOTBIGHENET S HITETT S ?
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P(A)= %, RP(B) = % P(AUB) = % steaflev WletTeu(HeusTTOUm
M SHTETT?

P(ANB), P(A/B), P(B/A), P(AnB), P(A/B) P(B/A)
P(A)=%, P(B)=%, P(AuB)=% steuflev A, B etetrue s

(ST UMIBEIG 6T {606V 6TEITeYD SIS 6m6u 6TeTTeD ST (Ha:?
P(A/B), P(K/E) Q) 651 CUMITEIBISHENETUID S:T6ToT &> ?

Q5 SHemoreT e ClGTemeS:STLE LTTUUSMH S Test
Hlapsse 0.4 @b, SHmwemrwrer Cussr CTeng: sl 4
urTuuSmH &6 Hl&ns55Ha]0.5 4@ b. wensstall LT &S Me) & 6w eu6ir
urruugmarer Klanssea| 0.7 Sp@ib.

(1) semmeusid wenssTalud UMTLILGDHS e

(1) SHemTeu6T UMTSSMev Wenssredl LIMTTULSM & meT

(i) & ODHSS! Q(HUTTaIG| UTTUUSDSTET BlSDSHSa) WTg)?

e elwrerd sfwurer Crrsde UnluBeugnarer Haspssea

0.83 sp@b. oibs elwrerd sflwrer CrrsHNES absHenLausH

srewr Hlapsse]0.82 @ b. #fwres Cryg s ypiul(H Ffwresr

Crrsde aubsenLaignamer Flaohssa)0.78 stefle Hetreameaser

QUDPINSETET Bl&D5S:65H6M6TE: &T6wS?

(1) eflurer Grrg e ypluliLme sfluner CrrsHm@
QUIH S EML_G60.

(i1) sflwuresr CryaHinG, mgbgml_mgnsu sflwresr CrrsHn@l
HDLUL g (55 B60.

emeugglur et Crrwreflullesr Qmasw Crrenws: sevs(H
Splugnarer Hapssay 0.7 @b, eaugdwur ewrdenw
sflwuras seumbHifiysesrallLme Crrurefl sLL pLalSans
shlugnarer Habssa 0.9 Sp@bh. mausdur elurHenws
sflurss sevm (b Qg Samogb Crrwrmefl L HL oy Sens: eTHI
usm@wres Blapssea) 0.27 sTerrs srL(Hs?

R HETSHle 2_srereurgeaflen 35% opCeurmi Cmenevs a4
Wb 2 _mFUBSTLL Smg Sjeugmesfls &letTmenii. 6T men
ElM&06laL eflensrwmien, jaugmefliudeoenc. 10% opCeormrr
£fE0sL eflensTwri el oyaismesls s menrr. S ETTITEY
2_MSUBSTLL g Seusnesfliudlsvensy. 40% oyCeorri @lels
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alemsmwimL_(H&saflev 678 emenT b SjeusTefliLiSlsvensy. Geaurra:(smeir

Q(BauT 6TIRLIHDTESES G MeClFwwiucL me Geurt

(i) aMs0sl efensrwurien, Seusmefliuarns Qb e
2 _MBUHSTLLSMS Seusmeflliuarms QHUUSDS e
Hl&0s5e] WTG)?

(il) HN&CsL elensTumLsnL Sjeug el STHUTTS QUHHSTeL
2 _MFUHSTLLEMS SeusTesfliuarmss QHLUSDHSTer
Hl& s 56| WTg)?

(iii) oo 2 MBHUBSTLL He0G gmg,rrsuﬂuumn, £ifla e
aflenerwmenL. eugmesiliiueurt eTeirenid G(H Hl& 168 EHL0
Fmyn Blepa|serm?

8. @@ Uguew urLsmeneufl 200 Gur &L enwyfldermerrr.
SpTbuSSel, LuflepT, LG opfiflwrtser upl eluymIser
&Gy syuuL(HeTer ).

24 SArflwirt 24 65T Glusvor
SHTDLS S 38 45
uuSleyimrr 28 50
UL gl 22 17

Qearia@ner @@ SHAAWT eTLrHOTSS CsMaGlsuuiub
.

() Qe ulgpT SpAAwTTs SBHSTOL pewrms: @Bl
SMSTETT
(ii) @eurr Quesrstorma @(HHSMeL UL ST SpEAflw Sievevrs
e @(BUUSDSTES Hl&HDSSHe] WTH?
9. @ ©NSsBTefL el erilgseme A etetrn Hls: ey sTeay,
. weny Quuigens B sterm Blapa] eTareyd GClemers. Glauiudisy
TS sysaTer Hlapssa 0.5 2 b wey CUUIFY S ST
&880 0.3 2_ib 2@ d. Claniude sThlS g wenip Ol DHS et
Hlapgsea] 0.1 sp@ib.
(i) wenp QuiisTe Gauiuliss eTHlULSDHSTes
(i) Qeulufsv 6THSSMeL eMIY GILIIEUSHMST6TT
(i) Qeuiuisv 61HlS ) e QWML G(HLUUSDHS:TET
(iv) wen Guunurel L e Qeauinisy erHlugneTer Bl&nssea,
SEN6TE: SHITETS:?
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P

12.

13.

14.

(v) AB etereniio @Qm Hlaipe|g:ehid Frym & peserm?

. @ ulLgnfl e HoeueTtd garfih@b sesflwrt Blmeussio
_ aThHn@h Calennd&Hma wenisoleThHaHDTT. QaukrsE Ts

BimieuesTid Calenev aulprI@augma e Haha ey 0.5 o b gesflwr

Hlpieusstid Catenev apRIGHauSNHETeT BlapssHa) 0.6 2 b oy @b.

&S GODHSS QG BlpeeTd Gainég Gasme aprige

snsrer Flapssea) 0.7 op@b:

(1) Qum BimeusT(pd Qauns@ Cousmen aUPEIGaISMS: M6

(i) ope HmeussTd Geouenev aupmiGd 4Cs Gryb Hesflwrrm
Blmieueerid Caleney eUIPRIST S SMTewT

(it1) gesflwrm Himieuserid Geuemev eupmilerrey yFs Hlmieueid
Geuemev QUPRISTHSMSTET Hl&HDSHSH6] WTH)?

GarLmg BHIewTwb 66T M) eP6iT M| HLeneudeT Fesrl UUHEDGI.
Q5 BLeUZET Henew CUMIUSDSHTET Hl& DS S:emeaull Qu(pE s
aflFlepeuid Smevers?

CluLly pesThlgnier 5 BHeobim wewflaEnn 3 HeulyBlm ewsls: @b
2 eremeer. GULipulnieT UMTTSSMO (5 Wewfl 6T(PLTHDTS
CeuefiCu eTHldsLUL(H Sgerr Himd GmissiubHng. s
souwlsnist @IL_luLmosy QeeTGlerT et M) TS SHULLL . QGie|D
souwilgnieT @I LuL_mosh @letrGlesTmesT mil 6T(Hidha UL L ). QleueflGu
sihSaiul L epeTm wenfla@sh Gy Hpwrersrs @(HlUUSH
sre hlehssenald: sTewugsn@ ClumeEss elldlenwl uwesir

ubSGis?

(B eouullenisi 4 Fleulili Uk )8 6B 3 o(EhF 6T LG5 (6HID 2_6TTereu.

QsirGlenm(p souullsy 3 Heuliyls UHSISEHD 4 EHST LHSISEBD

2_eTemen. (P evreug eouuledl(Fhgl @ LUbG! 6THIESUUL(H 4F)

QyevwrL_meug) enuullenis GumL_LupHlHleirmg,). NesreuriT @iyevor_Mmeug,

souUfeSl(FHGI (b UbG! 6THSSUUL [ Sl (PSevTaug) enLulsnier

QLiubhEmg). @uCurg BesrHid p LBSI (PHevreig) enuulilel)

BH& THSSHIUL LT g Hauly HniupsTe @(BULSHS:TeT

Hlsngsea] Wrg)?

(5 EL[HSaL1nefl(BHg Q5 EL_(H& 6T Berenaulifsird 61(Hl&a0

ubEmz.

(1) Qs ELHSa@Eph Hauliums

(i) @B EL(H&a (6w 3 @ ef_&:8n L peeTTev 8 e 69L& GeOHmaUTS:
QBUUSDSTET Bl&DSSHa| WTg)?
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Buuilsm) B/MmLb (Baye's Theorem)

wrHfCleusfl GIMly:
srurpmit ufl@sngener qearmer wTHACweN S @
Bl ianini B, stetruser n fla:psfgserns Qs

UB; =8 Sh&HaD @) (HHSMev
{Bl,Bz, ........... Bn}srs’érusur S @esr MAllys a6 eTeTUIL(HID.

Eg:1)S ={1,2,3,4,5,6,7, 8,9, 10} @uowrdHif Qleusfluflsyisrer
B|,B,,B;,B, cretreniin  Hlaips Aseir Gereumorm Sruub
LT mg,|.
B,= {2}, B,={1,3,5}, B3={4,6,8}, B,={7,9, 10} erers..
BlmBz :q), BlﬁB:.; =¢, B10B4=¢, Bz ﬂB3 :q)
Bz ﬁB4 :(l), B3 ﬁB4=¢, BIUB2UB3UB4 :S
steer@eu { By, B,,B3,B, }eretruesr S @er AMAiLS S 6mm (S .

Eg:2) S'={a, byc,d, e f, g h}
Bi={a, b}, B,={d, e}, B;={f, g, h} erevra..
B;nB, =0, BiNB3=¢, B,nB;=¢
Spemev B UB, UB3 #8S
ster@eu { By, B,, B;}eretrues S @eir OALys ST Syevev.

BT Hstbsa BN (Total Probability Theorem)
BB B,erewruesr P(B;)#0;(i=12,....n) &
wrm wrHfCleuefl @er S AMLYs6T g,;b&,ml.b A steirug) @b wrHf
Cleusfluflsyisirer wWrg G (w HlepsSursan S(mhame,

P(A)= i PLR cyA =i P(A/B;) | spe.
=1 iz,
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Bimieuev:

Cugistsr CeussraufliuLg&lsv A eresrm Hlapsd) Hlpmnmiul L
L@ Slwrmev ST LUUL (HleTerg. ACtBC e B e A08,
STTERID B&10& ElS6 S(ET LMBMmIE)eU6sT aTenSWTsy

A =(AnBJUANB;)U..0.in U(ANB,)
P(A)=P[(ANB,)U(ANB,)U........... U(ANB,)|
=P(ANB))+P(ANB,)+............. +P(ANB,)

PlAy= ip(AmBi)
i=l

Qu(BS a6 ey

P(A)= iP(Bi) P(A/B;)

Eg: 1) @ euglfester wmemmairtsefls 20 Gurr Quevwraer. 30 Gurr
Spevmser. 10 OQuesmaenio 20 oy 6w s:(epin seuflg UL gHsv
g HwenL b ger. @eur s (eme QeI 6T(RTHMTSS
8 MeyOClwwiu L me @eurt s.6lg umL_ib s uenL_hgeugma
QlugnsTer flabhssea) wrg?

M - oy 6o 6
M—> oD Bk F - Quesors.er
A - senflg umL g dlsv
7 g HwenHCs i
A M-30, F-20
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B(M)=<
(A/M)z%—

P(A/F)=—=—
(A/F)=—2
@rug, F, M stesrues wrdlfl Qeusflulissr Ofllyserm@.
CQurss Hlepssas Copmiy
P(A)=P(M)-P(A/M)+P(F)-P(A/F)

2
s
e E AN P A
24 5Ceu @g,rﬂm@&mwuu@umn el 50 £5 ) e HHeauTms:

@BuusBDHaMTE 5‘5".95594 S HSD-
@gener wrafiuLb epewb Siése.

P(A/M)==

>|

A
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Eg:2) Quesn s 2 wirf & 60 a7l gerdlear oflui usals g

eflenL:

) Cuneseibiom. &Hwh Qgssuiiom, QFses S{6VTEBTDLOIT,
Qssvefl Bevevidiom oy flus Brsveusn  Curlip uiiPFesTmenrr.
(55518 sevfliy spesrlesTuig QbprevalHh GCleusiesmHames
Bl&058 aa6 (weomGuw 0.3,0.2,0.4,0.1 etewr SHuiu [Hlerer ).
Slmd) Cumstrestivwm syfurt ugells @ 1% MeyGlE Ll L mey
wrewellsmsr ‘detev’ yemilousn@s senLallFlliugma e
Hlans5a)0.5 2 b, Gssvevidor SOLeNEIIUS DS Ten Hl& 10856
0.6 2_ib, SystrewTidiom HenLeNHILgHmHa:mewr h&bssea) 0.7 o_ib,
BT FenLelEliugmamesr Bl&pssa) 0.1 2 b oy@b.
Qagorifluiey wrenrelasr ‘Berrev’ efleusn@ss sHemL
afflsslubausnaner Hapssa wirg)?

By, B,, B;, B, stetrue (penmGu Gumeirssriviom, Glasvsuibior.
SieTTeTbon, pevevbon Bl uselld @ s Q5 fleyGleuiwiL
ubeugmamer Hspeyssr eTeirs,.

‘e’ gerfleusn@s sl s siufi Hl&be] A erers,.

@ri® By, By, B3, B, etatusw wrglMQeus S Qe
AUy e Eb.

P(B;)=0.3 P(B,)=0.2
P(B;)=0.4 P(B,)=0.1
P(A/B)=05  P(A/B,)=0.6

P(A/B;)=0.7  P(A/B,)=0.1

Curss fepssay Ssmmily.

P(A)= P(B1)~P(A/B,)+P(B2)-P(A/B2)+P(B3)-P(A/B3)
+P(B,)-P(A/B,)

P(A)=0.3x0.5+0.2%0.6+0.4x0.7+0.1x0.1

P(A)=0.56
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Buuisto BEMmD (Baye's Theorem)
B oBai . oniis B, eTstrues P(Bi);t 0, (i=1,2,....n) SHGSLTM
wrHNGeush S @etr AMNULSSET Spsaid A 6TETUS @b HfGleustl
S @uyjsiter WD (b K& ey sTesflsv.

P(B,/A)= f(Br)'P(A/B‘) o

S.P(B,) P(A/B)

EXVEY]

P(B, N A)

zn:(BmA

SHSLD.

P(B./A)=

B pieuso:
Qurgs fspssas CaHmULLY

P(A)= EP P(A/B;)

ﬂugbgmm B 5 S edlewTLy.,
P(B, N A)
P(A)
(B NA)
Z P(B;)-P(A/B;)

P(B ) P(A/B,)

i -P(A/B;)

P(B,/A) =

P(B,/A) ‘:
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Eg: 1) P(B,)=05, P(B,)=03, P(B;)=02, P(A/B,)=0.1,
P(A/B,)=0.8, P(A/B;)=04 erexflso P(B,/A), P(B,/A),

P(B;/A) stsstueuprilsr QUmomeumissneTs: &mevs?

aflenL: (pgeflev Qwrss Hapssas Commiuy P(A) me smewr
Geussur(plid.

P(A) i -P(A/B;)

1
P(A) =P( 1)-P(A/B,)+P(B,)-P(A/B,)+P(B;)-P(A/B;)
P(A) =0.5x0.1+0.3x0.8+0.2x0.4=0.37
SiBMeug| ZP .P(A/B;)=037

i—1
Cuuwishv GammLiiy
P(Bl)-P(A/Bl) _0.5x0.1

()P(B,/A)=—; =0.135
ZP P(A/B,) 0.37
(i)P(B,/ A) = 1:(132)- FIALE;) =0‘3§;"8 =0.649
2 P(B;)-P(A/B;) :
i=1
Gii)P(B / A) = 13)(133) P(A/B;) _ 0.323.4 2o
Y. P(B)-P(A/B;)

1

Eg: 2) @m semssmue) HimeusTd Q6rhle el enswmen s fleir
S s Gesmers OsluelihaisnsHmses GlumeT eneswm,
fler eneuTwim. HBHENFWIT, BV ENWIT 6TET WD  HT6WT (S
ST SHTOTTSHT 2 _semeur. e(hHTefley Hlemi &sUGlumib
G\mng,g,s, J,ma,@g,svﬂs\) @bprevapd (WenmC@w 30%, 28%,
20%, 22% opew 560015 (&S En6NS Q&uusuﬂ@sﬂmgpmr’r.
mrru,_é,smg,u_xrrmr'rs,erﬂsir e s @Henend  Glaliuefl(hHibGurg,
QureiremeTT, HETEOHSTWIT. HBHENSHWIT, HEVENIWIT ET6ITEPIID
Breveupd Wenpalhaugnhasner Blabssasmsar weomGu 0.1,
0.24, 0.18, 0.21 Sy@®Wb. QRUHHTET UMl & 6N WITEN T
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RaflLb(Fhg sog sensstualsn feny o sTeargms
epuurlh eaTm HleoLsHlarng. QUi shengwr
SHe s sruemals GFuybCurgl emuLly (HLUUSM & e
Hl&ns e wrg)?

Gunereneorum - B, Sewrenerrur - B,

Shengwm - B mevensowim - By,

A eT6tTLIg)| 86001 S & TUleneuls lenipwin && Gl Wb [HlS ey 6T6TT 5.
P(B,)=03, P(B,)=0.28, P(B;)=02, P(B,)=022
P(A/B,)=0.1, P(A/B,)=0.24, P(A/B;)=0.18,
P(A/B4)=0.21 ;

Y5l Crgs Mapsse Csmmiuy, &6mmssmienell

denpunss Cswaugharer Kepsse P(A) 08 sramissn
Geuswmr(plid.

P(A):iP(Bi)'P(A/Bi)

=0.3x0.1+0.28x0.24+0.2x0.18+0.22x0.21
P(A)=0.1794
Quileny sHengWTANSD FOHULLMEULUSDSTET H&DSse
P(B3/A) sp@b.
Guuisv CammiiLig.,

P(B;)-P(A/B;)  0.2x0.18
P(B,/A)= 4( ke s o.:(794 =02

2. P(B;)-P(A/B;)

Eg: 3) Giguev gesflunt wpssiauwensruisr Qeusfl@rmwmentt Afledsy
2Cy Crrgdle A, B, C, D, E steftenid mhs) eneugdlurisst
sLenwulley rrhu(bsterei. Cpmuneflseflstr CrmuisensTa
sflunss sawLhumos denpurer w@GHms Qe Dha
e SlwnsErd Gamhuugnsrer Bapssassr (pwemGw
0.11, 0.09, 0.21, 0.08, 0.12 eteor BrieunssHleort WHUI
bstereor. GMSH ernrear QuiNays e 360 GrpmursTiser
aumensshgei. A, B, C, D, E aerenin Qe b gy
eneug S aenio (penmGui 75,70, 81, 68, 66 Gprwiment seneril
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ureneuulLssri. @ibin(pogleinenssulles GleueflGmmwimert
rflefsv Nemipwirest smeud Fluid QFwiLbBleugsnaEme Bl DS sa|
WImgh?

Sieerenmw Hlewriod Gleusl@wmwmer WNiflefim @, aumenssbHs 360
Gprmwmenr &eflsd Nenpuwmer (HsHiodHMe (HeurT
@mBGIETETTT 6Tew BiTaUTsSEDEGS S5 oL &Harng|.
hs eneugHwflesr Wlempunen GG HausSlerme Q&)
Bapbsg eraruens SMasnE Curdu oy e miss
@eveomell LMy @mmeursflwimen eneugd Sl  eTeurt 616w
Bireurs g dleor oerfllur?

eflen: B,,B,,B;,B,,Bsetstruesr (wemmGu A, B, C, D, E eretremiio
emeug Hurser Crmwmerisensri Ut eneuullhlersm s mesr
Bl & DeS6T 6T6TTS.

W etstrugy Qemipwires eneug S Glswuiubio Hlspey sTers.

75 70 J
By s enn ()=
68 66
P(Bs) =15 e

P(W/B,)=0.11, P(W/B,)=009, P(W/B;3)=021,
P(W/B,)=0.08, P(W/B5)=0.12
Curss Hlepssa Cammuuly.

P(W):iP(Bi)-P(W/Bi)

P(W) =22 x 0.1 1+ % 0.09+ - x 0.21
360 360 360
+98 o 0.08¢28 x0.12
360 360
P(W)=0.1248

< @b gauenss e GleusflGrmwmeT T Aiflefles Menipwires
emsusHwb GClFwuwiubheaugmarer Blapssa) 0.1248 oy@b.

Henipuiest (& Fleld QLWL 1 (FhSTev iG] A 6TETTLSTTE
QFLwiUL 1y (FUUSMSHTeT Hla0& e P(BI /W) 2GS L0.
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24,5 Geu Guiisv CammUiLg.

73 0.11

3
Z,P P(W/B, ) 0.1248

9 CgzGurmey (Butusm Gammiiuis.
7104 60%0.09
0.1248

81/ %021
P(BﬂW)z%zO.%

68 0.08
P(BﬂW)z—%Q;—S—:O.IZ

P(BZ/W): =0.14

66/ 3 X 0:12
P(BS/W):—Aﬁo——:O.W
: 0.1248

245Ba1 Nenpuiner snaug b GeiwiuyEhsme @ C
sterr emeug Flumey (B —hlaipey) Qewwiug u (plusmname
Bl&0586]0.38 oi60m5) DHEODW ETSvVMEUMNENDWIDONL_S &Fn L_aurT
®b. sterGeu C ererruauCy @mmeureaf] sTewr Hreurs g Hlestit
serliur.

ulipe - 5

1.

P(B;)=0.42, P(B,)=0.58, P(A/B,)=047, P(A/B,)=0.62
stesflev Olorgs Hlabssa Csnmiuy P(A) o8 smewms?
6 5 5 2 1
P(A)=—, P(B)=—, P(C)=—, P(D)=—, P(E)==
(A) 5o 5 TS s PO L -
spsad P(X/A)=0.3, P(X/C)=0.7,P(X/D)=0.6,P(X/B)
=0.8P(X/E)=0.2 gpaaid @ Hsms P(X) 08 sners?

@M 2_wriseal i mieisr $Hle saaluufsyb wrssreurtaefls 25Gur
Speuu &6iT. |8 Gurt Gluswer a:6ir. gy 6v0 &erflsv 5 Bumid Gluessaeflsy 15
Cupld &Tdld euemerwid @sFlusterer. @Qeuraefled (meurt
sTpLMODrSs CeflaGlswwiv’Lrsd Geur srHé eaensTwb
G3HUBLUSDST Hanssea| WG
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Qrey HE aThineE aumossps Guerssfls Ogrens,
Sh6TT SHeM6T 6l (LPEIT ) DL KIS TG D. Sp6traeflsy oyenriumiles
GO Cusswaeaflsy (peiles ep LKarHd Lena Sy luairss.
Qarseafler GgMeayGlswwliul L Qe UensWyUuayrs
QwUusDETET Hlabssmay WTS)?

B lpetr opl" Senwd: ena UM mieusmHemes QU g588 15606
(peuratenflSaL &, Gerementls.al 4, QLgiemilsal 4 eeranid
Ay S e et mi &L as(emid CurL i WHssTmesr. & (55 G155 euflliLy
et BleTLiy. @bewesr M) &L s (61> Cleuehous Ha:meT eumLIILS:S:6T
weamCu 0.3, 0.5, 0.2 ereur SPWLLGED ). (petresewfls a4
SHLE&@ absTe Qerifys Heneenug, Siiiugns e LAY
564 0.8 o4& M. Nevreorswfla oL & Qi s Heneenwg Sriug,mn
snew Blapssa 0.1 g@h. @Lgssrfsaslfl @erufyed
e Slugnener Hapseey 0.4 @b, b IBITL Ly 63T
QerufysHenen ErisslubeusmHa e Hle0s 56| WTg)?

R uTLEmeneuuwlles @Hg &m. Qur. . (2_/5) ufens &, 80
Gurr Ggrmmlestrr. Qeurrsefleb 45 Gurt v 361, 35 Guit Glussr z:67.
<pevmaelsr 9 Bumi> Quetrs:eflsy 7 Buid Lsoaemevs: Sips: & 60els:
®% OsfleCsuwiu’ Herererr. Geursafls QU 6T(LPLDITH)
&g GsfaelFuwiuLms eurt LUOLSDNES NS Hevalls: s,
Oz fleyCewwiu Laugms, @(HlugHE e B&0556] WTS)?

- @M spensgdsn 100 Cur Came Qewifsrmenrt. @eurssfle
55 syemaEnb 45 CuetnaEsid o erereut. oysvwseflsy 7 Gt
ulLgrflaer. Quemaefles 35 Gurr UL gmflser Sl G
Qeurissfley ep(meurt sT(QULIHOTSS GgMNey@s il L ms Qeurt
UL gl Seveurseaunme @BlUSDHE T Ble0sse] wrg)?

S|Ewflé &, Curmwesf, Fasw, oy s, Larm SHElW BrlenL &
Gerhg 5 Guriser éé,é,]u.lg:,n@a,sfr senuuflesr Qg wevrremt LgeM&@0
Curlpipferment. @bprien s Carbseariast Gesve
snarer flapssasar peopGu 0.25, 0.15, 0.25, 0.15, 0.2
&0 @BBILLaur 86T . BrT. Femuusir QEwevreryeg G5 Meay
OELWiLC LMo auenen @ L miu@ SHulls BrhaT Fwrgmersans
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10.

11.

2%

STHUOSSIUSDSHTET 8DSSHa|H6T penmGu 0.7, 0.6, 0.5, 0.4,
0.3 Sp@b. ammgLml ugHule BITHST GO 6T D
HUOSSLUL Mo @QFULSDSTET BleHDSSHe] WTS)?

Guusn CanMmSemss Fnifl SiHenes Blmies?

P, T, L sresruest orfieusfl S @etr ifliis &6 a6y, X sTesTUS)
@ HifGeusfluiiss wTHGWTH Hlspain ap&n. P(P) = 0.7,
P(T)=0.2, P(L)=0.1, P(X/P)=0.75, P(X/T) = 0.6, P(X/L) = 0.65
etesflev P(X), P(P/X), P(T/X), P(L/X) sTetTUSUMM6ST CILMIDTETTBIS

EDVET S SITEE0T S ?

Guiisv CaHMSmMES Fnill SjGenes Hlmieys?

A.B.C erestue or&iGeusfl S @etr OMLys semmsayd, X 6TETUG]
@b EflGeusflufsyiser w6l (G Blapeyid erssras. P(C)=0.2,
P(A)=0.35, P(B)=0.45, P(X/A)=0.8, P(X/B)=0.65, P(X/C)=0.3
srexhev P(A/X), P(B/X), P(C/X) etestueumblest Gl MILOITETTEIS:EBET &>

ST6E0T S ?

Qemem(sHiT &SI QM Semeveurt ugels® Bj. By, Bj
sTeend ewesTml Gurt GurL pulRHeTmenti. &(HHSISsemiliy
qeneuy B). B,. B; sTetTURITS6T Qg MeayGgwlublelSD S TeT
Hapssassr pepGu 0.3, 0.5, 0.2 2y@h. By, By, Bjereuru
argsr (wenpGu O MeGlEwinTLme SmSS Sl LesH D
siflaMiugnene 5s0s 8686 weomGuw 0.8,0.1, 0.4 Sp&0.
SIEIS:SGeul LewoTd 2185:M8 S UuL Iy (FHSTe
(i) Bjerestueur geneveur Usel&GS Qs ey GlewwlUL g (KLU
HMFITETT
(i) Byereimueut geneveaui uselé@s Claie QiU g (BU
uSmHETe HlSH0SSHe] WTg)?
ewm Gzmfinsremauls B B, Bj. B, eTsrenib BHITS
QuibHmissT enswenmasT (gloves) gu_lrrrﬂmﬂm rF(HuL(hlsiTemeor.
B,. B,. B;. B, ersniemid QuibSlymiser Q(BHTET ClMss
o _mHusHulso (peonmGui30%,25%,23%, 22% Spewt en&WEDDSHmeET
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13.

14.

2_pusdl Clswdlsirmenr. B, B,. B;. B, etetrenin @uip&ymiser

Gopurilster enswempaemers gwurfiugnaner BHapssa

&6 (pemmGuw 0.2,0.3,0.1,0.4 gy @id. 2_hHusH Qi L e myer

Gsopunplster @n emsymnews C5NaCswg T 248,

(1) Byererm Quindlyssme

(if) By eretrm Quib&lrssmed swnfssiul Lgnaret Hlabpssey
WImg?

W BeTSHe 95% operr Gl emesLst QUEHBTST
SEDEVE:E0ED STl ETETIT. Femev8:Sa1&D SemilwnGa g eflsy
64% opCeurnit eug g sefler QmsLeTmewrt. SEMVESUFD
Sienfluaiisaflss 12% oCeot elug g gseflsr @ms:&letrmentr.
Qmhsarsefle samedgasn yemiurCGs e sg,sﬁg,l.b'u.lrrgj?

& prpseflyiersr Qs s sigmieywgmissfsn 50% oy erene
Semmell(pb, 25% sSpemeneu giuneflpb, 13% operensu
urdlevgresfipd, 12% spemenes @bHwurmel (pib o _sreres.
S prhselleoLCu semepys wWssh qatem Serm
QgMLmG DS Hebssea|0.2 . plureT Q&ML kigeasnsemer
Bl&0sse) 0.3, unfvgrer QBT EIGaugDSTeT HSDpssa0.11,
@pglur QsrLm@easnarear Hawpssey 0.18 saars
& (55 8ISsefllouaThleT e SyBHWLLL L ).
(1) 2w priyCe sEmiopus WssD gern Hspaspsaren
HasRs e Wrg)?
(i) op&lw PTG siEmIepLs WSSD HeoLQubpTs @),
(a) @pFlumamsy CFHTLKIsUUL g (FLUSDHS T,

(b) undlsvgrerms QML EISLIUL s (FUUSDHSTET Hl5 DS 56
FHENETS STV S ?
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wyaumm wrhfiCleust
wrEfoleuefl eardlysrer wrHfliystaflseflesr erevwmenflsons,

yemmsruler obwrdliflGeusfl (pipaumm wrHifGleuafl sTeiu(Hid.

Eg: a gyenrwenLw eulL b et m) 2a Us S (penlwi SSTID spevtlensim

saunTWULUOERTMmS. FHTHEDGT Spermen el LS Hn G
CleusflGw sp(m Ysiterf] 67(pmmHMT S Gl MeyGlF Lwiu(Hlaismsmeor
HlaDs5Ha] Wrg)?

Blmmuul L u@Hullsh sp(h Ystrerfl Glgflwi
uheugmamesr flspey E ereirs.
j P(E) = Blpmmuul L u@dlulles uriy
<23

FgirSSlest iy

y
_4a2—Tca“ _4-7

P(E
& 4a* 4

uliH & - 6

1.

dem uSSH oL W SFTalgaiTes LTUTEHEHT UHSSH Henrg
TG 2cm efllL(penLw el eugeunmes L () egesrm
sTHlwiLBEM ). Ul L $ 5L () (PHMIPRSTS (T omidle sevedlesT
Gusy ulaugnarer BlspsHea 5 TS ST (H&?

ABC steorm Gamiig it pbllysefl B op@in. X sTerreniid sp(myemer]
GriGar( sulblGw et(pwrHMTHS % fNayCsiiuhifng. AX,
XC, AB ereorm epeirm CrriGami(hgd SleworLmisEnn (b
W3Canenflen op&@GHaugnaner FlsDss%ea] % 6T S ST (H&?

10cm, 10cm, 16cm sierasener 2_enLw @(HFLS S (psCameu]
seThlenier b Ustefl eT(pwrmmres OsMeyclslwliubhEng).
@uusteflures g (p&Camenfluller o &Asaflel(mHg 3cm
SMTSHHGST QUBUUSDSTET K& DS S50 i—fe‘rmé;&m;@&?

CriCan(H setriilev ep(1 LsiTarl 61(wmHmTS: 8 Ol MeayGle i ()
@&Camh Qp glewLmsammel IfdslupHaTngl. Cufiw
CrrGam(hg giesrL b, SMlw CrrGam (N HievwL &Sleir b5
GODHSSH QBLLEIE BrHensd: OIS ey (FULSM S TeT

s
Hl& D5 56| = 6T &S ML (h % ?
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mFsugsm T yaresfugsfush

Shemwai didisi swemsmenssit (Measure of Location)
Sp&ry (Mode):
sTemblgTen, el oiHle SLenussT SHTewlLED 6TovT
2SI 6TesTliL(H)D.

B I Al SIS S e 6165 6Tever Qg menL_uflev 5 eTesTm 6ToTRT
Sidle sLenaussT SremiubaugTe Spemrbh S5 25 (S1D.
Bor2)i5i26:97 15, 7.8, 10 6TeoTm 6Tevr QgmemL 5, 7 sTeuTeId Q\(1p

SHFMTRISENETE O\&mever(Dleier g
Eg:3)2, 4, 6, 8, 10, 12 stasrp eTevwr Qgmeni S HM5HNG 5
Q& menris. (158 Seflsvenev.
&@Miiy: (1) eTevor CIFTEOLWTETE| Q@F Sp&MTEMSE: Clamesiy
BhSTe 345 @UrEMT(pererg) (unimodal) sTeriu@io.

(ii) eTever QpmenLWTeTE) @K SHEMTRIBESTS O Tevmis,
BhBMe g FymEnTpsTarg (bimodal) steiiu@io.

SHSMTT euGHly:
s LSsTaisefle 9168 sLenauser amemriu@id suEly SHEMTT
uGUY eTesTUL(HID.

Eg: 100 nrewweur a6 s6mlg, UL g Heo Qumm ysirefls:si SletreumLom m)
AUGUUTESD Gl [Herers,).

0
= =) (e =) e
LDIT 6387 6UIT & 61l 657
6T 6507 650 | & 611 5 10 30 15 25 20
(1Bip )

Siglswme wresmeutast (30 Gur) 20 Qs mL_seib 40 EUETIT & (S LOITETT
Yerreflsemerls QuMl(BLLS TS Spamy augiy 20 - 40 2S4S LD.
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gL g sreier SHSHTTD

2

199G

<—C——>
>

’
,
.
’
5 .
X ’
N
.
A
D
\
. 4
v
.
.
v
.
v
\
v
0
\
.
.
>

A
\ 3 au@LumuSlenL
L SHSMTD

&l Lg sralpamer Sy&mrb Aeraisn FwesTUML g 6urmev HTLL(HID.

A
smyo =L+ Lk
i (A1+AJ

QILITES
L = gp&ry auglller £ eTevensy
A = spary aGller Byper - 0SS Eipeu@Ldlesr Big meTT
A, = opamy Gl Bemer - o053 e—wi au@ LNt Big. meTT
C = o3&y auGudlesr L(pLssT

Eg: &(gsTem LFDUNISSTET SpSMTSHMSS S T6TT S ?

o0
3 . = ) N foN S
yerrerflassm S i :'-,:\ g =
< = S =) =
LDIT 65T 6UIT & 61l 63T
6T 6537 65511 560185 10 30 15 25 20
(Big.medr)

@ULTbusySSme auenew(h suenywid &G sl uul(hererg).

2p&My U@y 20-40 @ .



S
$ <——C —
g. 30 T "\
25 +
A,
W l
IE3it
10 A 4
5 =
0 .
%O 40 60 80 100 yeefameir
\

A
smyb =L+ — |C
i (AﬁAz]
=2()+( 24 jZO
20+15
=543
@enLwib (Median) :

UBLeT&EhsGanu g piaufllens g @mEiw, aflesuis
LUESUHSSLLLL sTevm QgmenLuflstr pELGUDILTsID @ enL_wib
6TesTUL(pD.

Eg: (1) 5. 4, 7, 6, 8 ererr eTctmrQgmenL_snwis; S(HSI&?
o] pieuflensl upSEb Gurrgy

4, 5,[6],7, 8 sy@.
sTerGeu @emLwid = 6 gy ()0.

g8}
uq

(i) 6, 8, 4, 3, 5, 7 etesrn sTevmOBTEnL6MILE: S(HGI5?
o pauflensl uRSHID Curs)
3. 4,[5]1[€, 7. 8 sp@.
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@i BHedle 5, 6 eTetTm @\(1 67680 SH6i @wuus T eup et
sgreflGu @enLwid ShEWD.

@enLwid = e

QenLw eu@uy:

S

Fnl L5 HTeysefls 2_sTer Qrss L (D& safleir 676v0r6weflS oM

N ererflsv %(NH) spaugl FLES@IU iy QeeLw sy

eTesTUL(HID.

Eg: 41 vnemeurssr sefls urLSdle Qumm yereflasT &(perer
oL Laienssmuflsy  Sliyefr  Blg mewIL 63T SyuuL QeTergl. @enLw

QUG LIENLS SHT6TTS?
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&y F(x) SHUT G|,

Fx)=P (X < x)

Eg:1) &geirer Bapssal UTbUmMNE & (5SS

X | 2 131415 6
BN L N N R A
P08 o3 (8 Bt B g I e I e D
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(G) FQ2) =P(X<2)
=PX=D)+P(X=2)
o ey

EQ2) =—+——==
3 o s | N

(i1) F(4) =P(X<4)
=P(X=1)+P(X=2)+P(X=3)+P(X=4)
10
21
(iii)F(6) =P(X<6)
=P(X=1)+P(X=2)+P(X=3)+P(X=4)
+P(X=5)+P(X=6)

F(4) =

F6) =—+—+—+—+—+—=1
s Sl LRSS B S S
Eg:2) GanLng ss7pHs smussL L Qe 2 (BLLUUBHTTmS.
Gg et mib sTevmrsemaT T(gMMHM W X eTetra. X @eur yer
Hapssal ugbumns s, Qsemer aenrils &ML (Hs?

X ol l-de2 L3 . 441 386
s e T sllad
6161610616

F(0)=P(X<0)=0
F1)=P(X<1) =-é—

Tigy 002
= = = =N=—+4+—=—
F2)=P(X<2)=P(X=1)+P(X=2) 6 + e

F(3)=P(X<3)=P(X=1)+P(X=2)+P(X=3)
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F(5)=P(X<5)=

F(6)=P(X<6)=

=1

Ny |

(0 X<0
l 0<X«<1
6
Z 1£X<2
6 i
3
F(X) =4 '6— 2<X<3
4
— 3<X<4
6
é 4<X<5
6
1 5<X
X @&t flapssmal urbus
P(X)#
2]
6
1
it ] o @ ® @ @ ®
6 ) ] ] I ] ]
' I | I I |
} } } } i }
0 1 9 3 4 5 6
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X @eir fiyer PSS el LTS Fiy

F(X) A
1 + —
5 s
g —0
4 e
g ———
34 St
6
She s
6
S S
6
+ + + $ ¥ ol
0 2 3 4 5 6 X

glyer flapgsa) urbud srmilar Gwsyser

(i) 0SF(x)<1
(ii) F(x) sperrg oiflsfa @b smiy
(iii) P(X >x)=1-F(x)
(iv) F(x; <X <x,)=F(x;)-F(x,)

: dyerenX ereiranid eT(gurhH m) wrHlulsir Hla DS sl UTbLES

Qanewmr( Hyst HeDssea UTbUMNS STevNs:? ALY

P(X>3) @& anevrs,?

X

0

[\

P(X)

0.41

0.37

0.16

0.05

0.01
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Eg:1) @@ Qulyulgst 2 - smiiy, 3 - Geusitener, 4 - Heauliy wrflsr
&6 o_erenew. (% i eTRLIHMNTS 6ThH&SILO TS
ahs sluubag smuurs, Qastenstwrns, HAaliums
QliusH@MAw stugurmm wrhlssr X =-1,0, 1 2y@ib. X Qe
flapssal urbuemens seaw® X Qer @enL, wrmHHmesr,

allenL:

0
041
0.78
0.94
0.99
1.00
P(X>3)=1-F@3)
=1-0.99
=0.1

F(X) =

X<0
0<X<l1
1£X<2
2<X<3
3<X<4
4<X

Huwwellvss statuunenms: &mevms?

Y steiramin ergurpmi wrdl Y =X + | ausnywmis siupdleirms,.
Y @ar @enr, Bluvellewssw, fHrarhlapssal urbus

STETURIMENMS: SIT6HTS:?

smiiy - B, Qeusremer - W,

2 3 4
P(B)==, P(W)==, P(R)=—
(B) 9 (W) 9 (R) 9
X e Sy

P e e e
POl = e =2
(X) 91919
E(X)_—lx2+0+l g
9 9 9
E(X“)—lx2+0+lxi E
9 9 9
6 4 50
VX)=E(X?)-[EX)P zm-— =2
()()[()]98181

Bluwefevss = f%?-—-OJS

flaiy - R erars..



Y @eir Hlsps el LrDLE

4

P(Y)

ol |o
O|w|—
NN N S

E(Y)=1x3+2xi=1—1—
9 9 -9

‘E(Y2)=1><3+4><51—=-1—2
9 9 9

Y @eir Siyer Haspssail UL

0 Y<O0
2 0<Y«l
BY)={ 2 .
é soYe 2
9
L1 =N

Eg:2) @ siflas @evru &[0 Hlmieuewid esur 5/- QumuoHujser
8000 &L (& sener allpuenes QsufleTmsl. QEELLDS

12,000/- ufigrs,. auprsiubh DS @ SL[HSs6T QUITMI&LD

QBAUT THTUMTSHGSD @wurTuid eTeuGLETEY?

srdruniésiu@d @eoruo stgurpm wril X' eTens.. Q1]
81 (56T auUmIG ST eeTiile eHur 10/- @i s @(HSSWD.
Sisoevg) erur 11,990/- Qevruions, @\ d. 6TewGeu 6T(QLTH D

wrfl X o6 8 -10, 11,990 etesremilo @@ngmnmrﬁ:&mm

@& @w. 11,990/ cpumens @eruors QumaSDH S e

. 2 s 258y :
Hl&05560] —— HGSL0. CHUT 10/- @ @uiugpsresr H&psae

8000
708
8000 2O
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Ans:

X -10 | 11,990
7998 2
8000 | 8000

P(X)

E(X) = 2x - P(X=x)

=—10x19—?§+11,990x' 2
8000 8000

E(X) =-7
eTeorGeu eTHUMTSSUUL L Gumorestid 7/- @uplum@o.

. g enulgyst 4 Qeaustener wenfla@pd 3 HmSs wenfls@Ebid

2_cenenr. A, B steiregiio @\ eflememwuimiL_menri s BereneuliiLrm
wev wrrh M) @aGlaur(s wemflenw eTh\sHemenTr. A eTeirueurt
afensTwmLenL (pSeflev prbl&EADT. 61(hdS0uCL S &miiy
werflwras @mHsTe eflensrwm B (pipeuenLwd. eflenerwm (b
Wi euenLwid CUTS) SiBemeT (Pig HBeur 6THIS S UL L elClaur(fh
wesflg @b emum 5/- efg iy LHDAHSE CHT(HEs Caustm(bHid.
A erssrueurt Qumm Qevrusens, stgrHm i X eTers (5
X @\6ir Hl&p8 86y ubuene 6T(05I8%? X Qe QenL i Glumior
T EMNGE ST HENENE S (HEHSHNI 6N &S

w5e8l6b A eTerTueurt eflememTL.enL SyTibiflé:Heirmmt. 616w Geu
A sttt smiiywenflenw sT@UusHSETT Hlopssa —3— 2 b

4

Qeustemer wemflenw sTHUUSDHSTET HlS0S 56 5 2 1D ShSLWD.
@eurt & miiiy weslenw 6THIS S sflenemwm (b (i suHLHTTDS).
eTerGeu A eTssTueur s THSS @ wenflgams, esum 5/- o B
Q& Qeyssharo. (Q505Tms: A QNG BLLD SHSID.)

A eTstrueur s.vr_mf_lsmu er(hsamwer Ceustenstenw eThHidsme B
sTefTueT Syl L Gemss GsmLmiGADTT. eTenGea B ereirueurt

&mi5s wenflenw sThlugHsTer Fl&Dssea) —2 2 b Gleusiremer

wenflenw sT(HlugmaTen Hlaps e, —2 2_b &. (76euesflsv
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<€

A ersituaurt 10655 BeTenaus.s0uLellsvensv.) 24,5Ceu B ereirueurt
sy wenflenw sThSSMe Nenerwm_ () (WipcuenL_ElaTmSI.
sTHE s @) el (658 5maeaid @eurt U 10/-0 A @m
&& Qa5 Campd. @SCISTmS A @m© @evrruid. B steru
aurt &miiienu sTHS:SMoe ClassTenerenw @S HmHITe S(Hiou
A eTsfruart SpULSMSS QBTLEIGATT. @eeurm Sp-Lb
QsLiTbg) HenLGumid. @3 emens: Sgsmerm wyeufiuL b eleT
fermg).

smiy wesflenw K ereeyd, Qeustemer wesflemw W eT6uTEYLD
Qa&mers.

X eretrug, et(gumHml bl (A@etr @evrruid) 6T6UTS:.

Astlug)
K=x=-5
Bet(hiiugy)
— K="= 10
Aer(lug)
K=x=-15

| w

i Ber(iug)
W hat K=x=20
Asr@ﬂug,[
=x=-2
1

X = -5 et P(X = —5) = 3
X =10 eresfiio B(X =10) = x> =2
7 G
X2 15 redfbs P(X =—15)= 2 x2x 2 =2
7% G538
PX =)ot EL S
S A T
px=—25)=2x3x2xl-1
675 4 35

’ \



X =251 -15]1 -5 110 | 20
ol e
35 35 7 i3S

B(X)=Ex Pxamyeiindtuh o M0 56,60, 00
30 ¢ 13-t Goscy.
sterCeu syrefuns, g eflenerwmipe A sTesueurt 85 8856m8

@uptiur.

@uewr(h Fmym stagurHD wrBlser
X, Y ereiruem Qv &y eT(pIHm WSS Terflsy
E(x+y) = E(x) + E(y)

E(x-y) = E(x) - E(y)
Var(x+y) = Var(x) + Var(y)
Var(x-y) = Var(x) + Var(y)

Eg:1) E(x) = 8, E(y) = 5, Var(x) = 4, Var(y) = 9 ereflsv Slevr eu(mLd
sTurHm wrhlseflar GenLsnwib wrpHHmensud &mevmrs?
(1) X+Y (1) X-Y (iii) 2X+3Y (iv) X-4Y
Ans: EX)=8, E(Y)=5, Var(X)=4, Var(Y)=9
(i) EX+Y)=EX)+E(Y) =8+5=13
Var(X+Y) = Var(X) + Var(Y)
=4+9=13
(1) EX-Y)=EX)-E(Y)=8-5=3
Var (X-Y) = Var(X) + Var(Y)
=4+9=13
(ii)) E2X+3Y) = E(2X) + E3Y)
=2E(X) + 3E(Y)
=16+ 15=31
Var(2X+3Y) = Var(2X) + Var(3Y)
=4Var(X) + 9Var(Y)
=16+81 =97
(iv) E(X-4y) =E(X) - E4Y)
= E(X) - 4E(Y)
=8-20=-12
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Var(X-4Y) = Var(X) + Var(4Y)
= Var(X) + 16Var(Y)
=4+ 144 =148

Eg:2) X, Y etesregiid @ewr(® sy Klsireuws eT(RWTH DI wrr s efleor
Hlaspeyis uTbuc st £Gip gyuu(Hereng.

X Ok Y falin Iy
e i % hedalert

Pl L PR el e s
e bl SR

Z eTesgnin sr@mrrg)gn wr X+Y Q6o @gﬁ]a,a,UUL_L.rrm L
Qeir Hlspssa|U UTIDUEHEVE: &ITETTIS:?
Ans: Z=X+Y opseome
Z steirm eT(nHmi ordl 1, 2,3,4,5 steinen)id Gl MILOTEN EIS 66T
6T(H\& &
P(Z=1)=P(X=0, Y=)=P(X=0)-P(Y=1)
W
35 1
P(Z:2)—P(X—O,Y=2)+P(X=1, Y=1)
a2 .2 a +_2_ _ 4

AN TR TN
P(Z=3)=P(X=0,Y=3)+P(X=1Y=2)+P(X=2.Y=D
2 e GGt o

R 29l
3 5 3 5 w3 843 15 15 kS
P(Z=4)-—P(X-—l,Y—3)+P(X—-2,Y—2)
=P(X=l)-P(Y=3)+P(X=2)-P(Y=2)
| T e 1 2 3
+ S
% 5% 5 (S

SRR
2458y Z Qewr Blapssa|l UFbLs

Sl SR R e Y e

T P e
15 bds 18 15




Eg:3) preir(pd spevr my 2 (5L LuBidGur gy Cgmett mib eTewer X eT6sTm

Ans:

eTgormm wrflwursl uHuluBEng. @ew(b b ewrwLISsT
sevr_UupbCurg Camermid semevsafler eremenflaomns Y
e eTurHm wrhlwrsl uuiubfarmg. Z=X+Y
GLTM Z eTaTm eTRTHmLTH euenTumSSULLL T Z
@6t Hlapssal ugbuemens seabh Qaem eTHienauyo
wrpHmenssTu|b SHTesos?

P(Z<3) = P(z>3) stevreyd &ML (hs.

X, Y ererremiid erqgrmmi wrdlseflsr Blopgsel UTbUOSET
&Gy Fylul (HeTerg).

X 24zl 4 14 I S G s

! 156 8 B S S &

P(X= i o=t A R PY=y)|— |= | —

iR s a7
Z=X+Y spaone Z 61(n&:s& e 1pw Qupwrermsst 1,2,3,4,

5. 6 sy@W.
P(Z=1)=P(X=1,Y=0)=P(X=1)-P(Y=0)
i
44 16
P(Z=2)=PX=1,Y=D+P(X=2,Y=0)
=P(X=1)-P(Y=1)+P(X=2)-P(Y=0)
BRI o] o B L
42 44 8 16 16
P(Z=3)=P(X=1,Y=2)+PX=2Y=D+P(X=3,Y=0)
=P(X=1)-P(Y=2)+P(X=2)-P(Y=1)
+P(X=3)-P(Y=0)
d Shal g de 4

: =—t—t—=—
4 4 16 8 16 16
2

11 1
=— —+ +—-
4 4 4
P(Z=4)=P(X

1
L
=2,Y
=P(X =

2,Y=2)+PX=3,Y=D+PX=4,Y=0)
)-P(Y=2)+P(X=3)-P(Y=1)

+P(X=4)-P(Y=0)
(i A o

_1. e
16 16 16 16

4

eailsgl b1
4.4 0 44
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P(Z=5)=P(X=3Y=2)+P(X=4,Y=1)
=P(X=3)-P(Y=2)+P(X=4)-P(Y=1)
sl e S SRR

e e 16
P(Z=6)=P(X=4,Y=2)=P(X=4)-P(Y=2)
|5 )

24,58 Z @eir Bl&pga 0 DU

Z=X+Y | Ed 2. 34| 546

4 3
P(Z po 8 B d fin ) OR Bl e
@) 1176|7616 16 |16 | 16

6
E@Z) =Y ZP2)
z=1
e

16 16 16 16 16 16

E(2?) = izz P(Z)
7=1

1 12; 360 64 75 336

16716 16 16 16 16
et
16

Var(Z) = E(2?)-[E@))

16 16

e
sx N6
P(Z<3)=P(Z=1)+P(Z=2)+P(Z=3)
B R

=t —t—=
PSS SHG 16 -2
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P(Z>3)=P(Z=4)+P(Z=5)+P(Z=6)
4G T8
=—t—t—=—

16 16 16 16

N[»—-

PIZ 53)=PlZ=3)

ulipd 9

L

CamLng QB sSITWHIS STWE &L enL &6 RET TS &
semLlupHTng. Qrewh srwssL e seflgid Cgmeir mio
stensafler ol (HCsTemS WS X STEWTEID 6T(PWTH M o)
wrs; auenyw missuubhiEmg). X 6T®8>8>8:8n.19.u.l GumoreTLS.eneTS;
SITE &, ?

Cugierer ufGsngemansaner Hspssal uTbumens s
Usirau(BeussTeunemnmas: &mevrs:?

(i) P(X>10) (i) P(X<4)

(1)) P(5<X<9) (iv) P2<X<5)

ufGsmgenes spssrmims:mesr stgurmol bl X spewrgy 0, 1, 2, 3
STSTEID GlUMILDIT ST RIS EHET sTh&Lermg). sT(gwrHm wrblulisir
@Dngmnmm&@é,&nm hapssaser (weomGu 0.3, 0.3, 2a,
2a gy@0. X Q6 fapssal ugbumens s a @eir Gum
wrersemawid P(X 22) muyb snema?

CamLmg, presrwid st m) G\ (wenm sevorL_LubHEmG). X etetreniio
dlesreors, 1 1pwomm my wrflurerg Czrermid genevsefler
cTevw el 6ma, 6T6uT suenTwmiSSULHEDS. X @er s sal
ugbuenes, serh X @leir Qen, wrpHHmer. Huw efevssd
ETEITLIOIMENME: &HITEHT S, ?

o ufiGsngemeansaer stgurhm wrd X srefle E(X) = 3.5
sTe s SruUL[ReTerg). NetTeuHousTauhenms: &meves:?

1) E@3) (i1) E(4X) (ii1) E(5X+4)
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6. X estaarann eTprmm wrduiler wrmnHdlmer 2 eresfle
(i) Var(3) (i1) Var(4X) (i11) Var(2X+5)
(iv) X @eor fluweleusev (v) 3X+7 @etr Hlwielsvaso

6TEETLOUMENMS: SHT6TTT S ?

7. GanmLng prewwbd eaTm QnewmhHypenn sewrLUubHEDG).
Gamestmib Hemevaerfle 61euursnflghenaenw X eTaeniid 6T(RWLMMHM)
) eT6vTS.

X @& Hlapssal ugbumeans seubh @eoL. wrpmHdlmerr,
Blwuwellevs:ey sTETUMMENMS: &HTesurS:?
2X+3 5 X=U
% {X L i e

ShSLTM Yerarenid e eT@wmmm LMl eeFumS U
uhAearmas. Y Qe etdlrie. wrpndmer. Bluwealows s
STEUTLIOUMEDMS: SHT6weT S ?

X Qewrgid Y Qewrgibo Slysit Hla105 80U LTDUSISEMET 6T(1SIS?

8. e eouuflenier 1, 2, 3 ster QevssbllurL. 3 gierHs @b
@erQerrm(p ewuufemier 4, 5, 6, 8 eTewr Qevd sl luL 4
glevn (Ha @D o ererenr. Q5 enuseflel(FHgID @eubleur (s
glesmaer et sLubHRTTDS. Q5 Fieww Hsefliperer
Qesamsaflsr ol (Hs0sTems storHm wrhl X Sysel
uHwiupfermg. X @eir Hlapsseal uybuens eT(pdl sTSlMey,
wrondmesr, Hwwellevs:s eTaTLNENMDS: FTEwTS:?

Al
2
X-2
s
GLIM Yetaranh @ eT(gIHm LMl aenFUmIS S
upferms). Y @661 HapssHal urbusnnd SHerb eTdliey,
wrpndmeir, Hlwweallevas) eTaTUMNENME SHTEsTS?

; X—mDenm eTewm

; X—-@LenL etever

X, Y etesreyid er(ponmmi wrlseflesr Liysit Hlops sy ugbusnsn
eTpgis? QA BHgG F (X =7) - F (Y = 3) Qe Quporers

MGHE: STETS?
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9.

11.

62w gflamiaaflellBhgib 4 Anmrifwisailswhgid 3 Gurt
OCaneoL @f @ GeMwiu o 6rarg. GsMey Gawwiul L
Spprhursefler eremenfldenswreng X etetm  eT(pwmHm)
pbrlurs ufluiuhHearng. X @Qer @enr. BHluwellwss
STETUAIDENMS: STetus:? X Sper g SiBe @enL il Gumiores &8
SlBHEI @b Blwwelovsmysh@st QBUugsDaTeT H&hssmead

STV &> ?

. eflwrSBIL LU L. (PeTm) SlgS 2 DMEEHET (PO Sy HEISET

eTpurHors QLiubhHlaTmgl. sflumer &us o emse@ErsT
QiU L &y 5misefleir eTevm sl demnaeniu X 616wt snib 6T(19WTH M)
il G@hlefearmg. X Qeir Aepssal uFbumns sevb
sT&ley. wrmmHmer. Fluiwelevse 6TaTUMDHENMS: &Tewms:?

i e &
Y =
{ P X :
Sp&SWLTM Y 6TeTeRID 6T(PLTH M WM euenTwMmis&UuHHTD S
Y Qer Blapgseal ugbusnens s erdliey. wrmhdHmerr,
Hlwwelevg:ev 6TerTUOIMENMSE STewerss?
BlenpGummiic L. prewrwb eeTm SewLLupbGUTE Semeu
af(peugmamer Flapgsea] —i— G0 Q)5 SENT:W BT IID 668T M)
QPSIT M| SLeveussT SevrLubhflermg. Comermib &emeuserlest
sTevrenll s enaulef(Bhg Capmermid wsseflsr (tail) erevrenfls:
m&WS: Sl ai(pb eTewr erporHm wrll X op& ubwl
upEermgl. X @t flahssa] LFbLER 6T(L9SIS?
X @ewr s1 e, nmmmEmerr. Flwiweleus:sv 6TaTLIHEOM S SHTewa:?

X @er fyer Mapssen ubumens seuh @seTepaid
P(X>0), P(-1<X<3) stettuaumenms: S meuerss?

Al ]
Vit
s i X3
SHGLTM Y 6T 6T(LMMH D W auenTwmisSHULHEsT DS
Y @&t Qoo rmmHeTT. Hlwiwellens:sd 6T65TLAIMNENM S & 765 5 ?
Y @6 Slyet Flapssall UTbusne 6T(1955?
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I

13

14.

aflerm @earmnE efemLweaflé@orm n 1o 6w eurf &erflL b

CaLslulLg. Qariselld sfluns GE LTETNSHEESHSS

sren eflen Qgflyd. n>5 erexflsd CaLslupid (P& BTG

IDITETTEUIT & (658G 1d eflenL GlgAwmosy GBUUSDHSTET Fl&DSSey

(n=4)(n-3)
n(n—1)

1 <r<neresflsv gwmee eflenLwerlé @M (LpSH6v LDTETIT EUETT I SpeUS)

LDIT 60T UETT TS @(FLUSMSHTETT Hl 510556, 2((n L
i

r @6 FMEEDTES Snlplll 6TV GILIMILOTEHIEIS (& @WDITeur

6TE S &ML (h&?

cT68T & ST (H&.

Qbhlspssasaflsr s H50sTms: | sTans &L (bs?

sflurer eflenenwl QuueusHE (perert eflewrm Gal&UuL
GeusstTis. W T eUT Sefl6ir 6T6v0 6uel| 60 WIS 6THITUMT&&UL(HID
n+1)

(s1Hmey) Gumiwresio ( sTeurd: S (Ha:?

A, B steiruauriser Sesreucmior mj eflensmwir () speirenm eflemerwit(h)
Leirper. 3 GeULME BHrewmwmISeT & evrLLiu(bheler peu.
peiTml (penDD Semevser Careirflemmey B ereirueut A @n®
emun 30/-p8 Genpss CauemHd. @rem(H Fenasst Seme
Ggnenilermey uewid eTgayd UflorplubeuSlevensy. @\yever (b
SLneuseneTallL g (&HENMEUTET SL HIEUS:ET SHEney Ggmerrsurmsy
A esiuarr B @n@ esun 10/- p& GsnpasGausmmpib. A
STETLAIGSGS HoLsGh Cgnemsamw X et e(gorol
wrHWTs:s Qasrsd X @ @enL. wTpHEDET eTaTUauDEnDS
STET S ?

@arrsst 50 sLemusst Cuayereramm efleneTwipeme A
sTeTUIT TEITUMTEGD @evrub Sisuevg) HLLD eTelaeTe|?
Q5 sTiseTS e Sjpufsv 2, 4,7, 4, 2 etewt Qs sl iurL 5
QUL pssT SyFEHHCs QEeHaTer. o alemsmumipe A
eretueut smiser o sAWSBHE B\ ubgisener 2 (HLO
ettt ubSIs6T Qe CluL iy seflaeEbo (s H&E
swanlienus Qansmbererer 6T6irs. Q(F UBSISEGD @5
QuLlipulignist efipsvrrid. @eﬁésurr@. ubgd efi(gd Gluipuflssr
@evs s misefer s HE0BTEns: A sTeirueurt Gumid yereflwum@o.
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x=0
o

1 = Encx px qn—-x
x=0

FR(5 mIOylugbuesiss sTliTeyd LITDHHSMEDID:

n
). erdivey E(X) = D x P@-p*q ¥
X=(

. n!
EX) = Y x——p*q"™"
) xzz‘l x!(n—x)!p ¥

L x n! = z
z px l_qn X
= x(x—l)'(n x)'
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I 1)
= np Z (n 1)~ px—l'qn—x

o (==X

= np[1]

n

o E X2 X . D=X
11) ( z;, x'(n . e VLY |

E(X?) = 2 {x(x- 1)+x} s P,
x=1

o i X(X—l) n!px qn—x + i x n! an—x

x!(n-x)! x!(n—-x)!p

=1 x=1

2y _ v Xx=Dn(n-D(n-2)! x nx
B XZ=2 x(x =1)(x=2)!(n - x)! &

np

= 3 n(n — )(n =2)b¢ g ogag oyt
2 x\éz (x=2)!(n—x)! g
= (n-2)! Xx=2 _n—Xx
= n(n-1)p? 2———————( SV x)‘p q" ™ +np
= n(n—l)p +np
Var(X) = E(X)* -[E(X)]’
= n(n—l)p2+np—(np)2
= np—np2
= np(l-p)
= npq

Var(X)=npq

Eg: i) X eremagiin s1(puommdm wmlunesn g @ent 12.38 2_ib wrmpémest
8.64 o_ib 2_snLw Fr(H@ILLD UTbueNeE: Cl&mesTLg). n, p @ewr
QUMIDTETEISHENETS: &:IT6vum S, ?

E(X)=12.38 Var(X)=28.64
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np=1238 - (1)

npq=864 —__ (2)
Lll:’ i o 12.38
(2) q 8.64
q =.40.697
p = 1-0697=0.302
12.38
n = ——
0.302
n = 40097.

6167@au n @esT Qumiorestio 41 Sy, L.

Eg: i) giiunsfwrerss e QevdHeners sfwms &(heugmsmeer
B850 5/6 Sp@b. Qs 9 FLeneusst &(bHElsTrmmed.
1) S&SSHGHODHSHSI 7 HLenaissT QevdLlenes SHlums g &G0
2) 6 5LevausERSE Cue sAwTs: SLIH GBS0 Spdlweam
Himsres Hl&poHsea] wWrg?
aflenL:

Qevafenesr sflwns shHaugnarer Hlopssa p:%

-l n=9
24 5Geu q o

1) W&EGODHSH 1 SLemasdr Qevsddlense sfluns
Siplugnemer Blspssmea p (x 27)
px2TN=px=7+px=8)+p(x=9)

3 5 7 1 2
=7 = *cr (g ()
01 SV
o [E) (E)
= 0279
T aENE
won = 2L
= 0.3488
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915\ (1)°
SR B
Hh ity (6) (6)
= (.1938
px27) = 0.279+0.3488+0.1938=0.822

2) 6 sLMUSERSEE Coo sMlwuns &LMos @(HUUSDS TS
Hapsse =1-p(x27)
=1-0.822 =0.178

Eg: iii) ¢85 @ aenswmer eflenemwim () sty e(meurt Glausveu
spsrer fapsse 03 @b HS&SODESS QT
Qeusveugmares Hlopssa 0.96 248 QBLUSMES 615660
Gurr eflensmwimGeuesw(Hib?

o= 00
p(x=21) = 0.96
I-p(x=0) = 0.96
p(x=0) = 0.04
L 03 (0.7 = 004
0.7" = 0.04
B log0.04=9'02
log0.7
n = 10

cTerrCeu p8:8:GHMMHSH S (BT Ceusisusmarer K505 56
0.96 sus QBLusnE 10 Gurr eflenerwim. Geustor(Hid.

Eg: iv) X sresragiid etgurmhmy i @eni 6 spaayb wrmpdlmesr 3.6
SpSad 2w FFHEMUYIUTDUemS 615 mes (heTerg).
p(2<x<4) o8 snews?

np = 6
npqg = 3.6
3.6
=—=06
T
p =1-06=04
Seulieg
0.4
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P(X=2)

8¢, 0P

BELIsL 2 13
= /)’(0.4) (0.6)

= 15x14 (04) (06)13

: 002

PX =% =:Paqedr e’
—

TR

= 0.06
PX=4) = B¢, 04" 6"
o 4 1
= 0.4)* (0.6
BT o
15x14x13x12

= 2227 (0.4)* (0.6)"
PTG

= 0.126

P2<x<4) = P(X=2)+P(X=3)+P(X=4)
= 0.02+0.06+0.126
= 0.206

Eg V) @@&&UULL et eflorerGFeneu @\ BHIEI% 66 ElenLullsy
6 Quibdlrrismers OQsmewL eflwmermsaneruyn 4
QubHrrisensts GamsmL eflorermssneryn Csensuuisy
FhHubSgiFleTmg. upifarCurg @ubSrriser gsirenms
snyng seflgs Qum@b. eflorermisst wrejb Gy
suenswresr QuibSrmiseners: Qs mevr (bl esr. umLiferGurrg)
QubFTb etTm UWSHeNLusHETeT Hahssey 0.4 ShGD.
GODHSS Tansl sTementgenswmes QuibSlTmiger
Qumleey sre e alwrergHermer UTGISTULTEST
Grwrewgens HUbBSS (Pywb. 6 QupbHymisensts
QarenL. efloneTon svevg 4 QubSlTrisenars ClsmerrL

sdhoresior UTgariures GFeneaienil HL&G(isuib?
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allenL: 6 QuibFTrg:enens, GlsresL eflwrermaefles 4 QuibEyEigsr

1)

Sivegl 5 QuIbETrISET Ssvevg) 6 Qb HTHISET L(SenL
Sev eflomend UTgismiuner Caenaienu BLTSHS (PlylLTS).
(g7Cemeflsy umgIsTiUTeT ULETSHNE obs&EODHSS
engaundl et enfldenswner Quplymisst Qumis
Geuewtr (HIb.

stenGes 6 QuibdlTriser ungisTiuTer Gsemaenw BLTSHS

PBHWTEOWLSSTET HlSDS 560

P(X=4)+P(X =5)+P(X=6)

°C, (0.4)* (0.6)*+°C5 (0.4)° (0.6)" +5C, (0.4)° (0.6)°

15%(0.4)* (0.6)* +6 (0.4)° (0.6)+(0.4)°

(04)*[15%(0.6)° +6x 0.6 X 0.4+(0.4)? ]

o179

Il

stenGeu 6 Quibmiseners: GlamerrL eflbmed LMS)&mlLmesT
Gaemneusni BL_ITS G601 M S Teur &5 56]

P, =1-0.179

P, =0.821

QGzCurev 4 QuibgTEISEMETS: Qa:merurL eflomesTid LTSS riLmeeT
Gaemeusnw BLTSS (Pig WTENDSSTET 6180856,

P(X =3)+P(X = 4)
LA 06 P, oy
(0.4)°[4x0.6+0.4]

0.179

1]

Il

Il

eTeorGeou 4 Qublrmisenerd: QameL eflomeid UGS miurmest
Ceeneuenw pLTSFiIgnaSTeT HSDSS6

P, =1-0.179
P, =0.821

P,>P =8 @lugenme 4 Quibflymiseners GomessL
aflorer@uw ungismiurer Caeneausnw BHL &5 (LpigWb.
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Eg: vi) @ efesrmiugHyb 10 usBsriey elenrmaseners Clsmeve
Derergl. @aGleur@m oflermailer Hgb oHg el &6
Qarhssuul pererer. @Heo el g SyGo
sflunerg). @uuifl ensd@ GCarmmlw wmewreur serfle
GO L Sev ressreur &6 GeilalewTT &8 (6158 6T(RLTHDTS
v weflafermes. @uuflensullsry A FuenLauznE
semraunda@ ConulL eflensseErsE sflurs
eflenLwefl&.sCeuetr(Hid. eT(gLTHOTS alenLwefla@n b
wresereussT & EWEHLUSHDSHTET [Fl5 0556 WTH)|?

(5 lermelnE sfwns elenLwelllugnsener Hlspssea|

pz% 2@L. sfluns alleLwefllé@gn ellernssefler
sTevwensll s ena: e1¢pwmmHmiomi X eTer & 6lsmesrLmev X b5 S

m(BmINYL ubuenevsd GamesLgl. X ~Bin (10, %)

P(X =)= "¢, (1) (4)"

obs efearnssErs@ Gue sflurs eforweflsgmeo

WTevTeU6ET F& SWIenL WeVTLD.

P(X>5) = P(X=6)+P(X=7+P(X=8)+P(X=9)
+P(X=10)

= 0.0064

FR(SMIIY eT(grmHm wrlufisir oy Smiyib:

X eretrenio et(gmmmyorthl Bin (n, p) eTesraniinp mr (i LITOLEnES:
Qaner_mer X @5t gp&myd (n+1)p ereirm eTevmenfledr (g eTever
UGS L.

Bmeus:- X ~ Bin (n, p)
P(X): IICX pX ql’l—X ———(1)
P(X = 1): [lcx—l pX—l qn—x—l (2)

n! X SR EX
Q:) Pl hen < x!(n—x)!p :
(2) P(x —1) n!' prl g
(x=D! (n—=x+1)!
RBlx) oma(nsX +lp

P(x-1) Xq
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P(x) J
P(x-1)
(n—x+1)p>l
Xq
np—xp+p>xq
(n+1)p>x(p+q)
(n+1)p>x (7Gemesfler p+q =1)
5Gar  (n+1)p>x ererfle p(x)>p(x—1)

S6TTITEV

245G

(n+Dp<x eterflev p(x)<p(x—1)

6T Bou & & Fnlp W S DS S0 P(X) H6T G| X Q& GlumyomewTid
(n+1)p @esr Quarer seng e g Geopairs @ ns@nbGurs
Qumiuib. :

SiBmaugl (n+1)p Qevr (1 eTevor Qumjoresiom@,b.

@Bly: (n+1)p eTesTug) (pogetesm ops @whsres (n+1)p-1, (n+1)p
STHTERID QB Sp&MIEISET CQUDLILHID.

Eg:i1) X~Bin(20,0.23) STETTERID FF(5 MINLILTDLSSSIT oy T 6058
STET S ?
n=20,p=0.23
(n+1)p =21x0.23 =4.83
4.83 @t (p( sTERTLG H) 4 Dy 1D sTTBeu SpaTITiD 4 ShSL.
Eg:ii) X ~Bin (9, 0.5) stetremyid F (5 iU b UeSlesT S ST SN GE
STEEH S, ?
n=9,p=0.5
(n+1)p=10x0.5= 5
sterGeu X @ei oy amryin 4, 5 .

Eg: iii) err m(m myiiytiurgiousy erpurmm wrdl X Qe y&myd 17, 18
sTeTenIn @\ QML eTT RIS sneT & Clsrewr_g). Qg6 QenL
17.5 258 QBhsmsn, X @6t brphbimes Blwiw efsvaso wImg?

sllenL: gp&mrd 17, 18 ereiramid @(BOUMIOTeTEISemeTS: Olg:mevurly.
(BUUSTeL
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(n+p = 18
@en17.5 ops @ (BlUUSTE

np = 17.5 ()

Q:; il g L

) § o )5 ias

Q)

35n+35 = 36n
n =35
np =175
N 17.5:__17.5:0‘5
n 35

(i) n=35,p=0.5,9q=0.5

wrppdmesr  Var(X) = npq
=35x0.5%x0.5=8.75

(i) Bwwedevser = +/8.75 =2.95

FE(BIILIYL ubueSlssr Slye £l&105 Sl UFbLE STITL:
X eTsiregiid 6T(PLTHM) WTHlenWS QamesorL. FF(mILiUToeSlssT
Syer s Sl LITIDLS ugibusv &y F(x) etesrss.

F(x) = p (X £ X) Spsevmsv

F(x)= Y, "C,p"q"" | sp&b.
x=0

Eg: @@ Camimg premrwd 8 SLenauser SewrLUUHESTDS).
Cameirmib senevsefles 61 ewllshma, stgurpm wrhl X o4
udwiiupfleTm).

@uufGen g enew &g mewt Hl& DS Sal UTbusy FE(B MO0 LTDUe
S4&D. Qs Slyer Bapsseayl uribusy sy F(x) syeorg).

X X 8—x :
e 3] (4] e

x=0
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J G @G ) ()
ok Gl

(%)8 {1+8+28}

0.1445

I
oo

@

(=)
T RN
ro | —

I

GBUY: QUG MTeeT S 60, FF (B MIULL LT DS L L euemeworuflss) b
SiMlwevrid.
Eg: X ~ Bin (7, 0.3) etesflev rr¢mOyl Lipibuey g{l;l_susmsuurlﬁk\ﬂ@‘r_'bg,j
SletTeu(peussTeum lsir GClLMITETRISENETS: &TewTa:?
i) F(3)
i) F (6)
i) f (3 < x < 6) p& srewrs?
aflenL: FF(FDIULLLITDUS S| L eueneTrenwll LT &3
1) n=T7gseamer Hliyedlsy
X =3 gpaaieter Biyys@n P=0.3 spaeaster Hlenrs @ wmer
Qumor ewrgeng, umiggmsv F(3) = 0.8740
i) @CsGurmsv F(6) = 0.9998
) p(3<x<6)=F(6)-F@3)
=0.1258

FFCBMIUYL uTbusSeflar gL (Hd0gmams:
X, Y stetruen @yetor(H) Fr (5 Ml upbueuaserfletr 6T(wmmmy) o hlseir
6T6OT . "

X ~ Bin (n, p)
X ~ Bin (m, p) stesflev

X+Y ~Bin(n+m,p) | ew.

151



GHuy: @retorh s miiyiurbusseflergid @ CuMGUMISSTe
Hl&05 56| Fwenns: Q(HHSH0 Geussu(pb.

Eg:1) X ~ Bin (7, 0.3)
Y ~ Bin (5, 0.3) eresflsv
X +Y ~Bin (12, 0.3) &@&b.

Eg: 1) X ~ Bin (6, 0.4)
Y ~ Bin (4, 0.4) ererrs.

Zetesteniio sTgormmioril Z=X+Y eTewr euenyuwimid UL L M
Z @6t QenL. wrpmdmedt. Blwwelvss, syamyb P (Z = 5)

6TSTLOIMENM S SHITEEI S ?
allenL_: X ~ Bin (6, 0.4)
Y ~ Bin (4, 0.4)
. X +Y ~Bin (10, 0.4)
Z ~ Bin (10, 0.4)
n=10, p=04
E(Z)=np=4
Var(Z) = npq = 10x0.4x0.6 = 2.4
Huvefleovss =~2.4 =1.55
Sp&myn- (n+ 1P =11x0.4 =4.4
sTerrCou 2y &I 4 (M.

P(Z=Y5)

ot oy

T e
=5 (047 06)

= 0.2

Eg: iil) o0&l & p6lubm &&ITmIs: 4L L Fmibiwesmes SO e(peurt
s eflenemwn(hio speuGleurr( Cumiiipullsyd CgrmHusmHemesr
Blepssey 0.2 e 2_swr(pHlermmt. @eur (P& au(HLD 7
Curlpseflyd obhss aumLb 4 Gurlpsealyb sHeobs
Qamessrr. @Qeiiefl( eu(pLKisafleyiid Seurt sflwrs, @revr({
Curiysafls CamevellwenLaugnanes flaDgsea| wrg)?
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aflenL: (pgeormd apLd @eurt Camm@h ellensTwml (h& gefler

sTevenilgena, eT(pmmmorml X eT6urs:.

SEXSHBIF (1 0:2)

ShSsHaupLD Qeurr Camm@ Curlyseflar erevwenfls
engenw eT(prmHmuorhl Y eTewrs.

S Y ~Bin(4,0.2)

sTerGeu @Qyewr(n) eu(HLRisaflyid Qeurr Camm@bn Curiiys
affletT 6Tevueveldemas eT(pIH MW Z eT6ufler Z=X+Y 4.

= Z~Bin(11,0.2)

P(Z=2)

He (021087
0.295

sTerrCeu @\(Beu(pLBisefleyid Qeurt sflwmas @ress(h Gumiiiy
seflv CamevelwenLsugmamer Hapsgea] 0.295 op@b.

LiiH& - 13

1

o

GamLmg BremTwd @aTm 4 FHLeneuseT FewLUUOElSTmS.
sflwns 3 sLenauseT gene Comer MeUSMHS M6 HlS0NSSa| WTE)?

i) X ~Bin(8,0.3) erellév P (X =2)
ii) X ~Bin (12,0.5) eresfleo P (X =8)
iii) X ~ Bin (6, 0.8) eteflsv P (X >4)
iv) X ~ Bin (6, 1/3) eresflsv P (X <2)
v) X ~Bin (10, 1/4) etesfleo P (X <7)

eTETUSIMMISTT GILIMIIDITEUTEIS: 66T, &:IT6uer S ?

X ~Bin (6,0.5) sterfler X @ssr @evi_. rmm&ment. Hlwinedsudev,

SHSTID ETETLUMENME: SHTETIS?
X etevrm FR(HmILLGUTDUS) eT(pmHm wrblullesr @emL. 6 2 b
wromElme 5 2_b Sh@. n, p sTeTLIDHMIST Gl MILTET RIENS:6T S

[T 6T & ?

4 Qereneraer o_siemr &HbusEHe 3 Glussw NeTemerssr @Bl
SD&TET BlSDSSHa WTg)?
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Ceusttrigwg) SHTETT. (B smeus SwFmensuuiley @BGmmullesmev
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) spes@oDHes 10 Gurr
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i) opaésnipwg 11 Gur
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wrg)?

iv) X @esr QewL., Blwioeflevs:sv STETLIUMENMS: F:T6TH & ?

Q& m(pidlsy eurm(ipo gBliprraeflsn 70% opCewrmi SHOL(HENLESTS

JESRLAT:ALVT) GuaLesTmenii. (BBTsT BT seLs@ abs 15

sl geflev

i) sTeoGevr(mHLD

i) Spsssmipwg) 12 Gur

i) spes@mDbs 13 Gurt

iv) sflwure 8 Gui HHOLGHESSTS Sprdleon GusasmSTes
Hl&pssa] WTH)?

5HOIL(FENDS ST SpmiFlevid Gurren seurt seflesr 6T 6657 6651 56018

e(gummm omhHl X stesriuduinc Lmeo X @etr ool BHluwioefevs:ev,

SpSTID ETETUAIDENDS STET&?

senwws sHenaulle ‘S5gias SomHH’ Lig (1emL BHOS:TET(EBD
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1) 1 wrewreustt wrg o HsHuenL wrssmnemer

iil) &8 @GoODHss @ WwTewreurt £g SlwenLeugm & meor
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Caeneuenw BLTSSIUSDSHTET Fl&DS 565 METS: SHT6THS?
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0.9893 - 0.8849
0.1044

1]

Eg: v) A f(z)

Y

26 -13 0

P(-2.6<z<-13)=P(1.3<2<2.6)

A f(z)

013 2.6

P(z<2.6)-P(z< 1.3)
0.9953 - 0.9032

P(1.3<2z2<2.6)

= 0.0921
Eg Vl) f(Z)
0.5
0 1.87
P(0<z<187) =P(z<1.87)-0.5
= 0.9693 - 0.5
= 0.4693
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Eg: vii) 1 (z)

-2.35 0 285

Blenevs @581 &St QF uShSHRISaMaID LUFULSSET SLD6TT.
P(-235<2<2.35) = 2 x P(0<z<2.35)

2{P(z < 2.35)- 0.5}

2{0.9906 - 0.5}

2 x 0.4906 = 0.9812

Eg: viii) f(z)

-2.25 OF 15355208
P(-2.25 <z <1.35)

P(z < 1.35) - P(z < -2.25)

Pz <°1.35) =P(z %.2.25)

P(z < 1.35) --{1.- P(z < 2.25)}
=P(z<135)+P(z<225)-1
= 09115+0.9878 - 1 =0.8993

Il

Eg: ix) f(z)

23 -0 2.46



P(-1.23<z<246) = P(z<2.46)-P(z<-1.23)
P(z<2.46)-P(z>1.23)

P(z <2.46) - {1-P(z<1.23)}
P(z<2.46) + P(z< 1.23) - 1

0.9931 + 0.8907 - 1 =0.8838

1l

il

Eg: x) \f(z)

Y

2 3R sV NG 106 72 45

P(1.26 <z <2.45)

P(z<2.45)-P(z<1.26)
0.9929 - 0.8962 = 0.0967

P(-2.38 <z < -1.15)

P(z < 2.38)-P(z< 1.15)
0.9913 - 0.8749 = 0.1164

P(-2.38 <z<-1.15 geevg 1.26 <z<2.45)
= P(-238<z<-1.15) +P(1.26 < 2 < 2.45)
= 0.1164 + 0.0967 = 0.2131

Eg: xi) P(z < a) = 0.9906 sterflev a @esrGlumiones Geng s Smeoms?

S Lsusnewer el B Ha! 0.9906 Em@flw Gumiorssid 2.35 gy@b.
a=235
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Eg: xii) P(z > a) = 0.0228 eterflev a QestOlumionest Seng s Smevonrds?

‘\f(z)
0.0228 R
a
P(z>a) = 0.9386
P(z<a) = 1-0.0228 = 0.9772
a =2 (sLeuenemrulel(pha)

Eg: xiii) P(-a < z < a) = 0.9386 eterflev a @s&rQu@wn:mgmg,é,

SITETT & ?

P(-a<z<a) = 0.9386
0.9386

= 0.4693

P(0<z<a)

P(z<a) = P(-0o<z<0)+P(0<z<a)
0.5 + 0.4693 = 0.9693
1.87 (oL euenesrules(Hhgi)

a

Eg: xiv) X etetreniid ér@mﬂgi)g]mrr@ @enL 50 opsayd Hlwwelsuge
10 gp&ayd 2_enLw ClFeaiasit UFbLenag Clamess(heTerg,.
X operg 45 @h@h 62 Q@b Qenulsyerer Gumywr
smhens THUBHETST Dobsse) LTS
P(45 < x < 62) @65t Qlumiiomen Seng,a Hmem|s e Geussar(hld.
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Zi= b
o
5-5
x=45 o5 z=4S 0:—().5
10
62 —-50
X=02 5 7i— =17
=& 10
S P45<x<62) = P(-0.5<z<1.2)

P(z<0.5)+P(z<1.2)-1
0.6915+0.8849—1
0.5764

Il

QFaieues LTbuySETer NTCWTHEISET:

Eg: ) @nlss @ aemswumer wpaluysés Hnbler sgmsfl
LITEUERETT &:5T6VLD 3 6U(TFLIBISHETT (S 1D. @IILITEUEn6T S &Teuld HIwio
aflvasy 0.5 @ 2 _enLw GlssileusT LTbuenss G mes (HsiTerg).
Qbs eemswrer D 2.3 aHLEISERSESS &SHmeuTes
&ML UTel&SUUL & Fn lg W) 6TETUSMS 6T Hl& D5 S6 WITE)?

aflenL:

=2k =108
Pk @lsv
(o}
x = 2.3 eresflev z:ﬁf_:—m
0.5
P(x<2.3) = P(z<—-1.4)
= 1-P(z<1.4)
=1-0.9192
= 0.0808

Eg: i1)blesresflusy smaeer 2 mug &) Hlmieuestid spesr my o mHus &) Gla o
Blesr@bliflesr Fpmefl umesnstraamend 800 werellsHumems,
6mIT 1. QILmaisner &8 msui 4() wewf & lwirevmis:ener Hlwweieo
sTSES Qemewl. Clealast ugbuRTGL. QHS aems
Blsir g ibliprser ) 778 wewefl s Elurevmiaebe @ 834 wesf1 g wir
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SUIBIG, (6155 (1D (DemL_uN6VIT6TT LITEUENETS: STV &0 &3 Olg mewr
Q) S0 5 .

C (BUUSMSTET Fl%DS&a] WTH|?

allenL:

1L =800; o =40

P(778 <x < 834) erarug et GumiomenGuo yflwiiuL Geussor(Hiid.
sTeer@eu X Qs Qumjior et 65§ 58367 z @lesT Glumioee 6& 5 &
Semra, ereu(Ho Fetrumigeormey ymiwii Geuesor (.

el @ev
o]
x =778 eteefllev z = i 30 =-0.55
40
x =834 steollev z = St =0.85
40
P(778 <x<834) = P(-0.55<2<0.85)
= P(z<0.55)+P(z<0.85)-1
= 0.7088+0.8023 -1
=0.51101

Eg: i) @5 giiunsd flpesid swrfls@b Gsmersugauimes

glunadl geveusefler el b 3cm @ QenLGummes
wrsey 0.005cm o Bluwelsvg:orssalb CamesrL Cls i
ugbueney 2 _enLWgl. Qsenens OlamsTeusma GlEwiw
oy &0 Blmeustrmigser 31+ 0.01cm el L iemayster @ svor(h
senemGw Clamealss ey Gl& i ef(HbLHeTDG. QbS emelmes,
Bl &wimrfls s UupHlib reneus e @Uha,ﬁ]é,&Uu(ﬂailg)@j. 2_mHugd)
Qeuwiuhuammled 618 senes efgbmer Feneussn
Blyrafgsiupin?

¢ swrfEsiupbD Fevausefler el Lib X STETERID 6T(LLOITM M)

wrdlenws GlamerL GlgeiaisT UL eTerd. X ~ N(3, 0.003)

Swilsaiupib Feneusefler 2.99cm @m@ b 3.01cm gyerellm

Gb Qe lu’L el L gmas GamerrLene GamsTausey

CEuwiu@ib. 2.99cm o ALs @Gemmbs IeTaysTaTEnaIL|D

3.00lcm o elL_&&nipw eTeysTeTenaud HlFTsMEsuuHID.
n =3 o=0.005
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A f(x)

299 3 3.01
Birraflssiupnp GrCssb
Birrefssiupib rCsasdler serenaissmamugna X @ et

Cuporermssr z Qe GumbreTm&efnE WLIHMD
Qe uwiwiiu Gelsser(pb.

7 ~{odl @ev
(o)
X =2.99 steefller z = cdba o
0.005
x = 3.01 steefler z = il =2.0
0.005
A f(z)
A L > 7
() 2.0

Birrafaasiupib VirGs s

Rlz=2) — = Pa- )
1-0.9772
0.0228

Sh5Ceu Hirmafasiupn NrGssid = 2%0.0228 = 0.0456

sTerrGeu 2_mug H GstwiuBuemhle 4.56% Syeer eneuss
BiyrsflseiupHio.



Eg iv) @h$s e aenswrer lar@blfler syusmn 2100

a)

b)

c)

b)

wewell G Slwmsvmisener apmeflunsead 200 wewflsSwmsum
sener Hlww elevsnseald GlEmen ClFeaialssT UFbLsns
2L W)

2 bsrgblfler opusmen 2400 wefllsSummisner
L& (HHeuns Q(BUUSDHSTET Bl%HDSHSHe] WTS)?
srggenen eigres fler@blipser 1700 wewflgHwmemis,
(6550 2200 wewfl & HlwimevEis 658 @b QenL_ulley LreusnesT s
SMVGMBS G TeTtle (FSHGD  6Ter 6T LMTSHSHIU(HID?
TSSHEMETT QUFL. Umeuenenrd Hmevddlest Gewerri 3% oy 60m
levT @G Bl 6T Li(LpSEmLUWiD?

: Blstr g Blipserles eurmipejdamevid eT(pwrmmiwmhl X eresflev

X ~ N(2100, 200%)

Z stetrugy Blwi QFeiaiest Lybusleir 6T(pwmmmiorml 6T6urs;.

g=l e @0
(e)
X = 2400 etesflev z = A =15
200
~P(x>2400) = P(z>1.5)
= 1-P(z<1.5)
= 1-0.9332
= 0.0668
x = 1700 ereflev z = Lt Dilds =-2.0
200
200-2
x = 2200 erssfley z = —2—&——@ =055
200
~P(1700 < x<2200) = P(-2<z<0.5)

I

Pzl 2Bz < 05)—1
0.9772+0.6915 -1
0.6687

sTe1@eu 60.87% oot hleir @lipasr 1700 wewflgHlwrevmis
(6580 2200 wewsll & Hwimeoris 655 @0 @lenLuflsy Umaienee S
SHMVSNSHS OSTestTle ([5G0 6T68T 6THITUITIT S &6V ID.

Il
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¢)

A f(Z)

S Laenssuled(Bhg 0.03 @m@flu z @er Glumjomerid
1.881 oy @i.

g Sl @ev
(0)
1.881 = LIOO
200
X = 24962

S%Ceu 2476.2 el SIMeuEISHET LTeUEH6S & 3 Tev & Hleur
Newrewrrr 3% oy 6ur DlevT (G IDS:6T LS ML WD,

Eg:v) figgnes Guna @airg gienens e Blast Glae syw

anssrmsefler &4 ClFeeust UFbuenems Clames(hsTerg).
@ Hlsv 87 % p6ur aungermig: e 90km/h Qeyiid Fn lgwi S EuL_goiibd
9% oper aunsenmisst 120km/h Qb Fnlpw SHHuwL_spio
QFsvaugma SHlwiuLL g

a) @uurybusdlesT @enL, Hlwwelevss ETETLAIMENMS F:T6wHT S, ?

b) erggemerr aigwmen aurgermiger 112km/h Qeyiid Fn(hlgevrmes

allenL:

sFL_61 QgL EleTTmS)|?
aunaennisefler &6 X eTerenid 6T(pommmior 6T6irs:. Q)56
@enL. Hlwwellevasy eTesTUsT (PeMMGW [L, O 6TETTS:.

X~ N(u, (52)
87% opeor eunsemsst 90km/h Qb Fnpw sFluye
QFsvdletTmen. sTeerCeu 13% oy 6ur aunaesrmiger 90km/h @eyiio
GenmaureT Sl Gl&susy|.
X eTerteniid GlFelalssT eT(QLMTMHMLTMHleni Z 6TaTand Hluo
Gl eusussT eT(pMHMILTOlLTS WrmmibGLTS)
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90 —u

x=90 ererfles z; = —— (1)
(e}
s e e )
(&)
A f(2)
0.13 70000
Z, ot z,
P(z>z,) = 0.09
1-P(z<z;) = 0.09
P(z<z,) = 0091
z, = 1341 (S-Loenemideflwhz)
P(z<—z,) = 0.13
P(z>z,) = 0.13
1-P(z<z;) = 0.13
Pz<z;) = 1-0.13=0.87
90 — 25
A=1126 = =2 (1) @e@psi]
nu—1.1266 = 90 3)
120= ;
1341 = =5 [2) @eiwpsi]
L+1.3410 =120 (4)

(3), (4) ﬂs&rumrj}mg} ENEACTNENL Y

u=103.69; c=12.16

sTerGeou aunaemigsflesr &glameflesr @en. = 103.69 km/h
Blwwelevse = 12.16 km/h
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112-103.69

x =112 eterflev z =
12.16
z = 0.6833
S P(X>112) = P(z>0.683)
— 1-P(z<0.683)
= 1-0.7517
P(X>112) = 0.2483

cTe@eu 24.83% L6 GUMS:EUTRIS 6T 112km/h @b Snlp W
s SwLeir GFsuletrment.

Qs suaues ubusSlssTer Gsnmur(b:

Qeiaussr aueneTulWmeTsl ST QG (Plgeil U@ Sluflsy|io
LeoLwgens @:Gurgb CsTLTHaTm 2|6 (S ST MG
STeT &S HSLLOHTT DS SBTaug ClFaiaesT sTqpworm mjiorHludlest
HlauGufu Guuorersdpen Hblwsrelones Blspsse, 2_ewwr(h)
eTetTuen s Cw @\g) &L (H&leTmS.

o _SITeRILNS: auugl aubseuisefler Blenpurmers) (AL,
ugbuenevs: Q& mesa(HeTerg| 6T6 . Qg abgeursefler Fymef
Henm S0kg eTetra.

A f(x)

50kg 1000kg

BueyisiTer  Gl&sue6TT alenemu e (FHE Wl elbd sp(meurfleer
Blenpwreng) 1000kg @wib s (bhisevrs @plusnED SiflgsTellevres
BHlapssa| o (b sTeTumng blw (Ply FTTM G-

sy @@ (wHHlgd QUTIWITETS). sTeor@eu  OlF elieuetT
ugbuererg BeoLEUD @uers HlsHsS eeTHh@D Sblgere
Hapsse) o_au@ aarumss &LOHSTDII

@586 Glgaiass LTbUESIIETET T GEODUTLITS 0.
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FR(HMIUYL UTDUSISSHTeN OlFEUAISTT I|6T0T6sT 6T eurTd:S1b:
@ FRBmILYL urbussley n Qe Glummeetid Hl&ea|d F»(hgers
Q(peE0CuUrgl ClgdinsT Sememaraindab GFwiu{HHerng.
X 6T6sTUSG) FF(H MIULULITDUSYIS S M6 6T(QmmH M) 6T6dr .
X ~ Bin (n, p)
E(X) =np

Var(X) = npq

o’ =npq
X eT65TLG) G\Feiieuett LTbUsyISSTes 6T(pmmmiorl eTesflsy

X ~ N(p, 6%)
sTer@eu FR(BMILLN LTDLSYISHSHTET OlF6LaI6TT (60T 68 6T6UTS: 1D

GlEwiLpHibCurg,
X ~N(np, npq) | Sh@Db.

X ~Bin(10, 1/2) erevrepiid (oLl LTDUEHIE &(FSIS.
1

n=10; p= 5
L=np=5
Gzznpq=10x—x5=2.5

c=1.58
sTeerGeu Gl s sliaeit ojevaeuamemaur g &b GlFwibGumg X ~N(5,2.5)

&gsrer uLgHlev Bin(10, 1/2) etesremiid mr(Hmiiill LyibLisy| & et
auemeow(s euemTwi(pd N(5, 2.5) eTamreid GlFeueussT LITDUSY|S S M6

aueHETUIYD RETMHTS: auenTwlUL (HeTerg).




FF(B@ILLL U buellsy X =5 eTesteniin Qumiomes & Hh&mes Ha DS g56
Blonmuul L GFeiausgHeir Lyl o4 @L.

Qg CgeiaisT auemsTulullesTmey o _siterL_&a0ufplb X =4.5,x =35.5
sT&TERI G\ ClumieuTEIg e ElenL LUl L LG SHulles urlusrelnE,
FLDEBTIT(SD.

FR(BOILLL UTbUene ClEelaIstT IysTrsrmeTaund:&id CluwubGurrg)
Aereupeussraunenn seausflasan. @g Continuity Correction
stewruu(pid. ;

FF (15 MU UUT DL GlgeueustT LIFIDLISL
1) X=38 g D <e8 5
i1) 8<x 7.5 <ix
i e e 8.5 <x
iv) 4<x<8 35<x<8.5
V) 4<x<8 45X <725

Eg: 1) X etesrsniio mr(pmitiy et(pommmi wrmluflesr Hlanssea)l uybLe
X~Bin(25,0.3) stewrg s rUuL (HeTerg). /(5 mii LbLsy| &S mesr
QsiioustT oievTemTaToUTS:SHSensL LwsTUhHSSEH P(8 < x < 10)
Q6T QUMILITET &85 & TewwT S ?

X ~ Bin(25, 0.3)

=29 )3

= np =25 a0 =75
c’=npq=25 x 0.3 x 0.7 =5.25
o2 2015

ClssileustT jeremmeTaumSaoHbn GlFwnGUTg)
X ~N(7.5,5.25)

FR(BmILYL urpibuedlsy P(8 < x < 10) ersérugl Glseusuett UFbUSIs
P(7.5<x<10.5) @m@ swerm@b. srerGeu X @lewr QlumyomesTm
SEHSS R5F Z Qetr GlumnreTEiger SHresriuL Geussum(Hib.

z:X_!'1
O
x=7.5 eresflev Z:MZO
22913
x=10.5 eresflsv z=1—0‘5‘l:1.309
22913
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-

P(7.5<x<10.5) = P(0<z<1.309)
P(z<1.309)-P(z<0)
0.9177-0.5

0.4177

0.4177

Il

S P8<x<10)

Eg: iupmiGrmurefl sy(meurt sengl eflurHIe\Bhs @snrvenL
agnHeEreT Hspsse 0.4 GO, @ Barsde 100 Gur
QbCrruflensy Sip &L Hsterent sresfles 30 Cu(ms:® 8
GopanGermr 2wl Aenwiiugnamer Bl&0ssa) wrg?

efleni:e w0 Qemplucurseflesr srermenfisens X SHoU G| FR(HmINY
STRWLTMHMILTH) 6T6wT .

X ~ Bin(100, 0.4)
n=100, p=04
L =np=100 x 0.4 =40
o’=npq=100 x 0.4 x 0.6 = 24
‘0 =4.899
QlFelieuetr oyevursseremeuns,a o GlewbGurrgy
X ~N(40, 24)
30 Gum s, @emmanGssr o_ulirt Henplugnemer Hspassay
P(x < 30) oys0.

sTerGeu GlFeiieustr upibueslss P(x < 29.5) @er Glumywreid
SmewriuL_sv Geueswr(Hid. -

z=2 K
(0}
=205 Letefins 2= D= MLCT o
. 4.899
P(x<29.5) = P(z<-2.14)
SR PO (e
= 1-0.9838
= 0.0162

2b%Geu 30 Cu(ps:®8 GenmeanGeermt o_uli Aenipliugma:mesr
Blapss6) 0.0162 oy @b.
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Eg: iii) aunseur e dliug b Qumieusnens Senewr &sers S,
S 75 Gur uflensdans epHleTment. s(Heur
uflengwlley HgHuenLaugnaner Hapsse 0.4 sy@b.
TG eneT  cTevueTlSBMSH G Fn(hBevrmen uflsmigdlaer
Sh&HEGONHSSH 85% e B seflev £gFlweneurr?
fgduwenLwydp uf snigdaefler erevmenflaons Frsmiy
sT(grHMIOTM] 6T6uS:.

X ~ Bin(75, 0.4)

p=75x%x04=30

6%=75 x 04 x 0.6=18

c =424
Qs sieuetr jstresmeneund:aid GlFwwbGUTE)

X ~N(30, 18)

P(x > k) =0.85 sy@wrm
k @er Qumuomerid smewliu@@sr Ceussor(id. FF(HMILYD
urgbusiisv P(x > k) eteirugy Glaeususs uribueslsy P(x >k +0.5)
@n@ FwsarTmGLh.

P(x > k) =0.85 (FF(BMILYL Urybusy)

P(x >K +0.5) =0.85 (G&sueussr uryibusv)
k + 0.5 @1 Qumonendeng GlFelieussT UTDUSL L6
enemwlefl(BHE umiiugnE z Qe Gupwrers s

wrrmm Ceusser(Hid.
z= o
o
i=k 05 thider it B0 8e 0
; 4.24
k=295
4o




~)

//’

k =33.91

steorGeu k @65t Qumyomentin 33 G0, TarBeu 33 A,
Cuoul G SSEGODHSH 85% oper mL sefle
g flusoeur.

QuriiG&mesr UTbUYISSTer GlFaiaesT
<3| 6T GTTT 61T 6UIT & &5 1D
EumMUGE st LrbusSlesr Lomen A Sbewrg) Cufigns, @ma @

Gurgy (A >20) Qg OGssieust UT DU (S 600 60T 61T eIt S & 1b
QsLwiupHermg,.

X sterrug) QumiiGsmesr sTRWID M 6T6wrs:.
X ~Po(A)
EX)i=u=Xx
Var(X) = 6?=)
Qg GselaueT LITIDUISY|Sh(F) {6TOT 60T 61T 6UIT & 35 D Q&u]u.;ﬂu@fo@ungﬂ
X~N(u,6?)

25ay 2561

Eg: ydgns ourivfs.eiu L eurGeormes] sedluriy Gsemeu eTiHnE,
eaibleur(s BrEEd syrefurs 25 QgrenaGuéd) oemipiiys s sir
FevL & LT mg eTew 5. QriE @ BIEss:E HlenL s @
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Qs TeneBLS Sienipiisseafls eTstmenlsenawmen ) GUMIGS T

sT(LTMHOIOTHl 6T6wS:.

X ~Po(25)

@uig A=25 eretrug) Quilgms Qrliugne® @g GFmLumes
Hapssasmas sefliugn@ GumiGsmer uybus urellg&iuL
wewrg). erenGes GumiGsmedr erT(gmHmLMBHlwITes g, Q\s6ilieusst
STQLITHDILTBILITS S|6TT 6T 6T EUTS:SHLD Gl wiiLL Geuewt (Hid.
ogmaug X ~ N(20, 70)

u=20, 62=70

@iy QuMUGsTeST LTDLETETS) Qetreurall LFbUsTS @(HLUUSTSY,
QumiiGsner erLNHm wrBlevw GClgsloustt 6T(QRLIHD
wrlwrs wrhmesne Continuity Correction 2 uGursi

u@®'s$sUu(HID.

QumuiGsmesr UFDLE Q\FelaueET LITIDLGY
X =14 13.5< x < 14.5
X214 X>13.5
X>14 X > 145
5 x<14 45 < x<14.5
5<x<14 55 < x5
5 x<14 45< x<13.5

Eg: i) 85 @ shHuls (Junction) @b BrEhSHE@ gynefwurs 3
oflug gié a6t HlaspHarmer. o Hpamvulled 22 Qns
Guoul L eugsisser ReRusHsTET HaHDSHSHa] WTg)?

de: @ Brefle 3 eluggisser BlapbsTeo Qb £ipeniouflsv
synefluns 21 eflusgisaer Hla .
sterCes @5 Hlyenwuled penL UMD aflug g8 s el eur
sTevmenfl&engenw eT(wrHmoTM X 6T65Ts.

X ~Po(21)
Rl
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E(X)
Var(X)

21
21

@uE A=21 gergy Guflsns Q@wlugre Qseleus

S{eTTeTeTeunS &b QEIwiL@ID.
X~N(@21, 21
u=2106%=21

EumiBsmerr uybusslsy P (X >22) Qsir Qumyoreid & memTiLGS0
Geuswr(hib. Continuity Correction Qeruy Gselsusst uFbuedlsy
P (X>22.5) @it Quumjoresid smewri ubss» Geusvm(Hio.

@s&a1 GumwmeTd snew<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>